
1[6146]-101

Total No. of Questions : 6]

[6146]-101
M.Com. (Part - I)

MA501MJ : MANAGEMENT ACCOUNTING
(2023 Pattern) (Semester - I) (60101)

Time : 3 Hours] [Max. Marks : 70
Instructions to the candidates:

1) Question No. 1 & Question No. 6 are compulsory.
2) Solve any 3 questions from questions Nos. 2 to 5.
3) Figures to the right indicate full marks.
4) Use of calculator is allowed.

P8739 [Total No. of Pages : 4
SEAT No. :

Q1) Fill in the blanks by choosing correct alternative. [6]

a) Profit is the difference between fixed cost and _________.

i) Total Cost ii) Total Sales

iii) Contribution iv) Variable Cost

b) A budget giving a summary of all operating and financial budgets is called
as ________.

i) Fixed Budget ii) Master Budget

iii) Flexible Budget iv) Cash Budget

c) The branch of accounting which primarily deals with processing and
presenting accounting data for internal use in a concern is ______.

i) Management accounting ii) Cost accounting

iii) Financial accounting iv) Inflation accounting

d) Key Factor is important in ________.

i) Making Key Decisions

ii) Ascertaining Profitability

iii) Separating Semi-Variable Costs

iv) Ascertaining Cost of Product

P.T.O.
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e) A plan and blue print for future period is called as _______.

i) Estimate ii) Future Plan

iii) Long Term Plan iv) Budget

f) ________ expresses the relationship of contribution to sales volume.

i) Profit-Volume Ratio ii) Break Even Point

iii) Margin of Safety  Ratio iv) Net Profit Ratio

Q2) What do you mean by ‘Management Accounting’? How it differs from other
types of accounting? [18]

Q3) Costing department of Shobhana Limited manufacturing special purpose
component has supplied following information about its cost structure. [18]

Direct Material Rs. 800/-, Direct Wages Rs. 1,200/- & Variable overheads
Rs. 400/- per unit. The Fixed Cost amount to Rs. 18,00,000/- per annum. The
Selling price of the component in local market is Rs. 3,000/- per unit.

You are required to find out -

a) P/V Ratio

b) Break even sales and Break-Even Units.

c) How many units of component are required to be sold to make profit of
Rs. 15,00,000/-

d) A Company has received export order to supply 2,000 Units at
Rs. 2,750/- per unit. If company accepts this order variable cost will be
increased by Rs. 50/- per unit without change in fixed cost. Advice the
management whether the export order should be accepted or not.
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Q4) Following data has provided by the management of ABC Ltd., from which
you are required to prepare Cash Budget for the period April to June 2023.[18]

Months Credit Purchases Wages Factory Other Depreciation

Sales (H) (H) (H) Expenses Expenses (H)

(H) (H)

February 8,00,000 4,00,000 2,80,000 50%of Wages 1,00,000 25,000

March 10,00,000 6,00,000 2,80,000 50%of Wages 1,20,000 25,000

April 12,00,000 8,00,000 2,80,000 50%of Wages 1,20,000 25,000

May 12,00,000 8,00,000 3,50,000 50%of Wages 1,00,000 25,000

June 15,00,000 10,00,000 3,50,000 50%of Wages 1,20,000 25,000

July 18,00,000 10,00,000 3,50,000 50%of Wages 1,00,000 25,000

Additional Information -

a) 25% of the sales are on cash basis.

b) 50% of the Credit Sales are recovered in the next month and remaining
after that month.

c) All purchases are made on credit basis and suppliers allowed credit of
two months.

d) Wages are paid on 15 days in lag period.

e) Factory Expenses are paid on monthly basis whereas other expenses are
paid in the same month.

f) Advance income tax of Rs. 54,000/- is to be deposited in the month of
June, 2023.

g) Interest on 10,000, 12% Debentures of Rs. 100/- each issued 4 years
back, payable half yearly in the month of June and December every year.

h) Interest on Investment receivable in the month of June 2023 Rs. 25,000/-

i) Cash balance as on 1st April, 2023 Rs. 80,000/-.
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Q5) Manva Ltd. Nagpur produces and sold a product at Rs. 180/- per unit having
following cost structure  [18]

Direct Material Cost Rs. 80/- Per Unit

Direct Wages Rs. 20/- Per Unit

Variable Overheads Rs. 8/- Per Unit

Fixed Costs Rs. 3,50,000/=

For the current year 2023 - 24 expected turnover amounting to Rs. 27,00,000/-.
It is estimated that during the forthcoming year 2024-25, Direct Material Cost
is going to increase by 7.5%, Direct Wages by 20% and Variable Overheads
increase by 50% with increase in Fixed Costs by Rs. 25,000/-

You are required to Calculate -

a) New Selling Price if the current P/V ratio is to be maintained.

b) Number of Units to be sold during the year 2024-25 to yield the same
amount of profit as per current year assuming the Selling Price to remain
at Rs. 180/- per Unit.

Q6) Write short notes on (Any Two) [10]

a) Break Even Analysis.

b) Scope of Management Accounting.

c) Flexible Budget.

d) Factors affecting Pricing of a product.





Q1) Fill in the blanks. (Any five) [5]
a) To test the goodness of fit we use _________ test.

b) To test whether the variances of two normal populations does not differ
significantly, we use _______ test.

c) Laspeyre's price index number uses weight as _________.

d) Paasche's price index number uses weight as ________

e) Sampling errors can, at best, be minimized by increasing the _______

f) Sampling _______ means that each unit selected in the sample is returned
to the population before the next is drawn.

g) To find arithmetic mean of the individual observations the MS-Excel
command is________.

Q2) Solve any three out of the following. [15]
a) Distinguish between sampling and non-sampling, with illustrations.

b) What are the errors in sampling and the steps for minimizing the errors,
with an examples.

c) Describe with an example - non - sampling errors and types of Non-
sampling errors.

d) Write notes on simple random sampling.

Total No. of Questions : 6]
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Q3) Solve any three out of the following. [15]
a) Distinguish between two sample t-test for testing equality of two

population means and paired t-test.
b) Explain in detail chi-square test for goodness of fit.
c) Describe the F-test for testing the equality of two population variances.
d) A random sample of 10 boys had the following I.Q's 70, 120, 110, 101,

88, 83, 95, 88, 107, 100 Does these data support the assumption that
population mean I.Q.is 100. use 5% level of significance.

Q4) Solve any three out of the following. [15]
a) What is meant by index numbers? Explain how index numbers are

constructed.
b) Define price relative and discuss how it is used.
c) State the use of index numbers. Mention the limitations of index numbers.
d) Write a short notes on price index numbers and Quantity index numbers.

Q5) Solve any three out of the following: [15]
a) Write commands of MS-EXCEL to find mode of the following data :

35, 38, 36, 42, 36, 40, 36, 48, 36
b) Write commands of MS-EXCEL to find median of the following data:

35, 38, 40, 39, 35, 36, 37.
c) Write commands of MS-EXCEL to find standard deviation for the

following data:
36, 15, 25, 10, 14

d) Write steps of command of MS-EXCEL for testing chi-square test for
independent of two attributes.

Q6) Write short notes on (Any Four) [20]
a) Simple random sampling with and without replacement.
b) Systematic and cluster sampling.
c) Paired t-test.
d) Chi-square test for independence of two attributes.
e) Distinguish between simple and weighted index numbers.
f) Base year, current year, weight of index number.


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Q1) Fill in the blank with the most appropriate alternative (Any Six): [6]

a) The concepts ____________ was not a part of the economic reforms
under the New Economic Policy (NEP).

(Centralization, Liberalization, Globalization, Privatization)

b) The economic reforms under the New Economic Policy (NEP) formally
introduced in _________ in India.
(March 1990, June 1991, July 1991,  August 1991)

c) _________ among the following is the cause of Regional Imbalances.
(Growth of population, Inflation, Disparities in Agricultural Growth,
Earthquake)

d) _________ is not a scheme offered by MUDRA bank.
(Shishu, Shakti, Kishor, Jeevan)

e) Internal sources of capital are those that are ________.
(Generated through loans from commercial banks, generated within the
business, generated through the issue of shares, Generated through the
loans)

f) _________  is not an agro-based industry.
(Vegetable oil industry, Fish oil manufacturing industry, Cotton textile
industry, Software industry)

P.T.O.
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Q2) Define the Industrial Economics. Explain the Changing Role of Public
Sector and Private Sector Industries and their Problems. [20]

OR

What is Industrial Imbalance? Explain the causes of industrial imbalance
and suggest solutions to remove the imbalance.

Q3) Define the Industrial Finance. Explain the sources of Industrial Finance.
[20]

OR

Explain the problems and progress of the Petrochemical, Chemical, and
Software industries in Maharashtra.

Q4) Write short notes (Any 4) [24]

a) Significance of Industrial Economics

b) Factors Affecting Location of Industries

c) BRICS Bank

d) Agro-Based and Forest Industries in Maharashtra

e) NABARD

f) Causes of Industrial Combinations


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à.à.à.à.à.1) [aH$må¶m OmJm ^am. (H$moUË¶mhr 6) [6]

A) .................... hr g§H$ënZm ZdrZ Am{W©H$ YmoaU (NEP) A§VJ©V Am{W©H$ gwYmaUm§Mm ^mJ
ZìhVr.

(H|$ÐrH$aU, CXmarH$aU, OmJ{VH$sH$aU, ImOJrH$aU)

~) ZdrZ Am{W©H$ YmoaU (NEP) A§VJ©V Am{W©H$ gwYmaUm ............ ‘Ü¶o ^maVmV Am¡nMm[aH$nUo
gmXa Ho$ë¶m Joë¶m.

(‘mM© 1990, OyZ 1991, Owb¡ 1991, Am°JñQ> 1991)

H$) Imbrbn¡H$s ................. ho àmXo{eH$ Ag‘VmobmMo H$maU Amho.

(bmoH$g§»¶oMr dmT>, ‘hmJmB©, H¥$fr dmT>rVrb Ag‘mZVm, ŷH§$n)

S>) ....................... hr ‘wÐm ~±Ho$Zo gwé Ho$bobr ¶moOZm Zmhr.

({eey, eº$s, {H$emoa, OrdZ)

B) ^m§S>dbmMo A§VJ©V òmoV ho ................ {Z‘m©U Pmbobo AgVmV.

(ì¶mnmar ~±H$m§À¶m H$Om©Ûmao, ì¶dgm¶mV, g‘^mJ Omar H$ê$Z, H$Om©Ûmao)

’$) .................. hm H¥$fr AmYm[aV CÚmoJ Zmhr.

(^mOrnmbm Vob CÚmoJ, ‘mgo Vob CËnmXZ CÚmoJ, H$mnyg H$mnS> CÚmoJ, gm°âQ>doAa CÚmoJ)
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à.à.à.à.à.2) Am¡Úmo{JH$ AW©emómMr ì¶m»¶m H$am. gmd©O{ZH$ joÌ Am{U ImOJr joÌmVrb CÚmoJmMr ~XbVr ̂ y{‘H$m
Am{U Ë¶m§À¶m g‘ñ¶m ñnï> H$am. [20]

qH$dm
Am¡Úmo{JH$ Ag‘Vmob åhUOo H$m¶? Am¡Úmo{JH$ Ag‘Vmobm§Mr H$maUo Am{U Ag‘Vmob Xÿa H$aÊ¶mMo
Cnm¶ gwMdm.

à.à.à.à.à.3) Am¡Úmo{JH$ {dÎmnwadR²>¶mMr ì¶m»¶m H$am. Am¡Úmo{JH$ {dÎmnwadR²>¶mMo òmoV ñnï> H$am. [20]

qH$dm
‘hmamï´>mVrb noQ´>moHo${‘H$b, Ho${‘H$b Am{U gm°âQ>doAa CÚmoJmVrb g‘ñ¶m Am{U àJVr ñnï> H$am.

à.à.à.à.à.4) {Q>nm {bhm. (H$moUË¶mhr 4) [24]

A) Am¡Úmo{JH$ AW©emómMo ‘hÎd

~) CÚmoJm§À¶m ñWmZmda n[aUm‘ H$aUmao KQ>H$

H$) {~«³g ~±H$

S>) ‘hmamï´>mVrb H¥$fr AmYm[aV Am{U dZ CÚmoJ

B) Zm~mS>©

’$) Am¡Úmo{JH$ g§¶moOZmMr H$maUo





Q1) Answer ANY SIX of the following : [6]
a) Which of the following is the cyclic behaviour of time series?

i) Level ii) Trend
iii) Seasonality iv) Noise

b) The suitable diagram to represent the data relating to the monthly
expenditure on different items by a family is :
i) Histogram ii) Ogive curve
iii) Multiple bar diagram iv) Pie diagram

c) Which of the following is a measure of dispersion?
i) Mean ii) Median
iii) Standard deviation iv) Mode

d) An observation with maximum frequency is known as
i) Mode ii) Quartile
iii) Range iv) Variance

e) The faults due to chance causes
i) can be removed ii) cannot be removed
iii) can sometimes be removed iv) none of these

f) In statistical quality control, p and np charts are the charts for
i) attributes ii) variables
iii) number of defects iv) none of these

g) Utility is generally related to
i) Satisfaction ii) Necessity
iii) Usefulness iv) Uselessness

h) The minimum expected opportunity loss (EOL) is
i) equal to EVPI ii) equal to EMV
iii) minimum regret iv) both i) & ii)

Total No. of Questions : 4]

[Total No. of Pages : 4

[6146]-104
M.Com.

QA504 MJ : QUANTITATIVE APPLICATIONS
(2023 Pattern) (Semester - I)

Time : 3 Hours] [Max. Marks : 70
Instructions to the candidates :

1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Use of nonprogrammable scientific calculator and statistical table is allowed.

P-8787

SEAT No. :

P.T.O.



[6146]-104 2

Q2) a) Answer the following : [20]
i) Construct the Histogram to for following frequency distribution :

Class 0-10 10-20 20-30 30-40 40-50

Frequency 4 8 20 9 5

ii) Write a note Box-and-Whisker Plots and Five-Number Summary.

iii) Ten samples each of size 5 are drawn at regular intervals from a
manufacturing process. The sample means and their ranges are
given below :

Sample No. 1 2 3 4 5 6 7 8 9 10

Mean 45 49 53 48 47 39 39 46 45 51

Range 5 7 9 7 8 5 6 8 6 7

Calculate control limits for range chart and comment on state of
control using control chart.
[For n = 5, A2 = 0.58, D3 = 0, D4 = 2.115]

iv) Explain the difference between expected opportunity loss and
expected value of perfect information.

OR
b) Answer the following : [20]

i) Define the following terms :
A) Class mid-point B) Class width
C) Frequency D) Relative frequency
E) Frequency density

ii) Calculate Median wage of workers from the following data :

Weight (kg.) 0-10 10-20 20-30 30-40 40-50

No. of students 1 3 10 4 2

iii) Explain the following terms with respect to Statistical Quality
Control :

A) Chance causes of variation

B) Assignable causes of variation

iv) The probability of the demand for lorries for hiring on any day in
a given district is as follows :

No. of lorries demanded 0 1 2 3 4

Probability 0.05 0.25 0.35 0.2 0.15

Lorries have a fixed cost of Rs. 180 each day to keep the daily
hire charges (net of variable costs of running) Rs. 300. If the
lorry-hire company owns 4 lorries, what is its daily expectation?
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Q3) a) Answer the following : [20]
i) Write a note on Stem and Leaf plot.
ii) Compute coefficient of variation of the following data :

Class 20-40 40-60 60-80 80-100 100-120
Frequency 4 8 20 9 5

iii) A glass manufacturer produces hand mirrors. Each mirror is
supposed to meet company standards for such things as glass
thickness, ability to reflect, size of handle, quality of glass, colour
of handle, and so on. To control for these features, the company
quality people randomly sample 40 mirrors every shift and
determine how many of the mirrors are out of compliance on at
least one feature. Shown here are the data for 15 such samples.
Use the data to construct a chart. Observe the results and comment
on the control of the process as indicated by the chart.
Sample 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15

Number out 2 0 6 3 1 1 5 0 4 3 2 2 6 1 0

of compliance

iv) Write a note on Expected Value of Perfect Information (EVPI).
Write the steps for calculating EVPI.

OR
b) Answer the following : [20]

i) Define classification. Differentiate between inclusive and exclusive
methods of classification.

ii) The following details are available for two firms A and B.
Firm A Firm B

No. of employees 100 200
Average wage per month (in Rs.) 240 170
SD of wage per month (Rs.) 6 8
Find :
A) Which firm pays out larger amount as monthly wage? Justify.
B) Which firm is more consistent for paying wages? Justify.

iii) An inspection of 10 samples of size 400 each from 10 lots revealed
the following number of defective units.
17, 15, 14. 26, 9, 4. 19, 12, 9, 15.
Calculate the control limits for p-chart and state whether the process
is under control with the help of p-chart.

iv) State the various quantitative methods which are useful for decision
making under risk. Explain any one of them.
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Q4) Answer ANY FOUR of the following : [24]
a) Write a note on Absolute measures of dispersion and Relative measures

of dispersion.

b) Compute mean and median for the following data :

Daily wages 400-600 600-800 800-1000 1000-1200 1200-1400 1400-1600
(in Rs.)

No. of 4 10 9 12 4 1
workers

c) Write a note on big data.

d) Following is the frequency distribution of daily expenditure of
100 families.

Expenditure 2000-3000 3000-4000 4000-5000 5000-6000 6000 and above
(in Rs.)

No. of 14 23 27 21 15
families
i) State the type of classification.

ii) How many families have daily expenses greater than Rs. 4000?

iii) Find the class boundaries of third class.

iv) Is there any open-end class? If yes then specify.

v) What is the class width of first class?

vi) What is the mid-value of first class?

e) Explain the concept of Control limits, Specification limits and Tolerance
limits.

f) The marketing department of the company worked out the payoffs in
terms of yearly net profits for each of the strategies of the three events
(expected sales). This is represented in the following table :

States of Nature

Strategies N1 N2 N3

S1 7,00,000 3,00,000 1,50,000

S2 5,00,000 4,50,000 0

S3 3,00,000 3,00,000 3,00,000

Which strategy should the concerned executive choose on the basis of

i) Laplace Criterion ii) Hurwicz Criterion


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Q1) Choose the correct option for following question (any 6). [6]
a) CAS-1 deals with ____________.

i) Material Cost ii) Classification of Cost
iii) Employee Cost iv) Overheads

b) At ___________ total storage cost is equal to total ordering cost.
i) Economic Order Quantity (EOQ) ii) Inventory Levels
iii) ABC Analysis iv) Just in Time

c) In _________  payment method, wages are not Guaranteed.
i) Halsey plan
ii) Rowan plan
iii) Taylor’s differential piece rate
iv) Gantt’s task and bonus system

d) Selling and Distribution overhead are absorbed on the basis of________.
i) Rate per unit
ii) Percentage on works cost
iii) Percentage on selling price of each unit
iv) All of these

e) Under ___________ Systems, wage payment depends on quality of
work.
i) Time rate Method
ii) Rowan plan
iii) Halsey plan
iv) Taylor’s differential piece rate

P.T.O.
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f) Under non-integrated accounting system ________ account is opened
in Cost accounting books.
i) Store ledger control account
ii) Work in progress control account
iii) Finished goods control account
iv) General ledger adjustment account

g) Total variable cost increases due to __________.
i) Increase in sales volume
ii) Increase in production volume
iii) Increase in fixed cost
iv) Increase in profit

Q2) “All Overheads are Cost but all Cost are not Overheads”. Explain in detail
with Classification of Overheads. [18]

Q3) Prepare a cost sheet along with value of Material purchased and profit earned
from the following information of  X Ltd., for the month of October 2023.

[18]
Direct Labour cost Rs. 1,75, 000/-

(175% of Works overheads)
Cost of Goods sold excluding
administrative overheads Rs. 5,60,000/-
Selling Expenses Rs.  35,000/-
General Expenses Rs. 25,000/-
Sales for the month Rs, 7,50,000/-
Inventory account showed following balances:
Opening Balance of Raw Material Rs. 80,000/-
Opening Balance of Work in progress Rs. 1,05,000/-
Opening balance of Finished Goods Rs. 1,76,000/-
Closing stock of Raw Material Rs. 1,06,000/-
Closing Stock of Work in progress Rs. 1,45,000/-
Closing stock of Finished Goods Rs. 1,90,000/-
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Q4) The following particulars relate to Domino Ltd. Dombivali, which has three
production Depts. Viz. ‘A’, ‘B’, and ‘C’ and two service Depts. ‘X’ and ‘Y’.
The primary distribution summary of March 2023, gives the following details.

[18]

Production Depts. - Service Depts.-

A - Rs. 6300 P - Rs. 4500

B - Rs. 7400 Q - Rs. 2000

C - Rs. 2800

The decided to charge the service department cost on the basis of the following
percentages.

Particulars A B C P Q

Service Dept. ‘P’ 40% 30% 20% - 10%

Service Dept. ‘Q’ 30% 30% 20% 20% -

Find out the total overheads of production departments after secondary
distribution of overheads by

a) Simultaneous Equation Method

b) Repeated Distribution Method

Q5) From the following particulars calculate the earnings for the week of 4 workers
under [18]

a) Straight Piece Rate

b) Taylor’s Differential Piece Rate

c) Halsey Premium System



4[6146]-105

d) Rowan Premium System

Number of working hours per week — 48

Wages per hour — Rs.25/-

Standard production per hour — 5 units

Actual output for the week — A = 280 B = 310 C = 325 D = 340

Differential piece rate — 80% of the piece rate when output is below
standard and 120% above standard.

Q6) Write a short notes on (any two) [10]

a) Cost Accounting Standard (CAS-3).

b) ABC analysis.

c) Job Evaluation.

d) Need for reconciliation.


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Q1) Fill in the blanks (Any 6 Out of 8) [6]

a) ______commission’s recommendations, Reserve Bank of India was
established.
(Chamberlain Commission, Hilton Young Commission, Keynes
Commission)

b) RBI was nationalized in the year______.
(1949, 1935, 1934)

c) Bank rate is______credit control weapon.
(Qualitative, Quantitative, both)

d) There are______deputy governor in the RBI.
(Five, Four, Six)

e) Full Form of CBDC_____.
(Central Bank Digital Currency, Central Bank Direct Control Current,
Bank Direct Control)

f) Electronic money is called as_______money
(E-cash, E-money, E-Rupee)

g) Central bank is______bank.
(Proprietors, Bankers, Sellers)

h) The RBI is managed by the_______.
(Central board, State Board, National Board)

P.T.O.
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Q2) Explain in Details th evolution of Central Banking in India. [20]

OR

Explain the Autonomy of Central Bank of India?

Q3) What is mean by Digital Currency. Explain the need of Digital Currency. [20]

OR

Explain the role of central bank in pursuing the transition to a Carbon Neutral
Economy.

Q4) Wrie short notes (Any Four) [24]

a) Currency Chest it’s mechanism and operation

b) RBI and Bankers to the Government

c) Fiscal Policy

d) Benefits of Digital Currency

e) Monetary Policy

f) Reasons for central bank autonomy


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(‘amR>r ê$nm§Va)
doi : 3 Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.
2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.
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à.à.à.à.à.1) [aH$må¶m OmJm ^am. (H$moUË¶mhr 6) [6]

A) .................... Am¶moJmÀ¶m {e’$maerZo, [aPìh© ~±H$ Am°’$ B§{S>¶mMr ñWmnZm Pmbr?

(M|~aboZ H${‘eZ, {hëQ>Z ¶§J H${‘eZ, Ho$Ýg H${‘eZ)

~) RBI Mo amï´>r¶rH$aU ................ ‘Ü¶o Pmbo.

(1949, 1935, 1934)

H$) ~±H$ Xa ho ................. H«o${S>Q> {Z¶§ÌU eó Amho.

(JwUmË‘H$, g§»¶mË‘H$, XmoÝhr)

S>) RBI ‘Ü¶o ................. S>oß¶wQ>r JìhZ©a AmhoV.

(nmM, Mma, ghm)

B) CBDC Mo nyU© ê$n .................

(g|Q´>b ~±H$ {S>{OQ>b H$aÝgr, g|Q´>b ~±H$ S>m¶ao³Q> H§$Q´>mob, H$a§Q> ~±H$ S>m¶ao³Q> H§$Q´>mob)

’$) Bbo³Q´>m°{ZH$ n¡embm .................. n¡gm åhUVmV.

(B©-H°$e, B©-‘Zr, B©-énr)

¶>) ‘Ü¶dVu ~±H$ ............... ~±H$ Amho.

(àmoàm¶Q>g©, ~±H$g©, {dH«o$Vo)

a) [aPìh© ~±Ho$Mo ì¶dñWmnZ ................. ‘m’©$V Ho$bo OmVo.

(H|$Ðr¶ ‘§S>i, amÁ¶ ‘§S>i, amï´>r¶ ‘§S>i)
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à.à.à.à.à.2) ^maVmVrb ‘Ü¶dVu ~±Ho$Mr CËH«$m§Vr g{dñVa ñnï> H$am. [20]

qH$dm
‘Ü¶dVu ~±Ho$Mr ñdm¶VÎmm ñnï>> H$am.

à.à.à.à.à.3) {S>{OQ>b MbZ åhUOo H$m¶? {S>{OQ>b MbZmMr JaO g‘OmdyZ gm§Jm. [20]

qH$dm
H$m~©Z VQ>ñW AW©ì¶dñWoÀ¶m g§H«$‘UmMm nmR>nwamdm H$aÊ¶mgmR>r ‘Ü¶dVu ~±Ho$Mr ŷ{‘H$m ñnï> H$am.

à.à.à.à.à.4) {Q>nm {bhm. (H$moUË¶mhr Mma) [24]

A) MbZnoQ>rMr H$m¶} d ¶§ÌUm

~) gaH$maMr ~±H$ åhUyZ Ama~rAm¶

H$) {dÎmr¶ YmoaU

S>) {S>{OQ>b MbZmMo ’$m¶Xo

B) ‘m¡{ÐH$ YmoaU

’$) ‘Ü¶dVu ~±Ho$À¶m ñdm¶ÎmVoMr H$maUo





Total No. of Questions : 4]

[6146]-107
M.Com. (Part - I)

CO-OPERATION & RURAL DEVELOPMENT
CM514MJ : Co-operative Movement In India

 (2023 Pattern) (Credit System) (Semester - I) (60112)

Time : 3 Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P8742 [Total No. of Pages : 4
SEAT No. :

Q1) Fill up the blanks. [6]
a) The working capital of a society as defined under the Maharashtra

Cooperative society act includes__________.
i) Paid-up share capital ii) Funds build up out of profit
iii) Money raised by borrowing iv) All of the above

b) The binding up of cooperative society means________.
i) Liquidation ii) Registration
iii) Amalgamation iv) Reconstruction

c) In______year Maclagen Committee submitted its report to Government.
i) 1904 ii) 1912
iii) 1915 iv) 1942

d) The area of co-operative primary credit co-operative society is limited up
to________
i) State Level ii) District Level
iii) National Level iv) Villages Level

e) SCB’s Stands for
i) Society Co-operative Banks
ii) Scheduled Credit Banks
iii) State Cooperatative Banks
iv) Senior Credit Cooperative Banks

f) Which of the following organizational structure is followed by
cooperatives in India?
i) Decentralised structure ii) Centralised structure
iii) Federal structure iv) Unitary structure

P.T.O.
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Q2) What is Co-operative Society? Explain the structure of Cooperative
Society. [20]

OR

What is Cooperative Housing Society? Explain the Features and types of
Co-operative Housing Society. [20]

Q3) Write a brief note on Report of Mirdha Committee. [20]

OR

What is Cooperative Society? Advantages and disadvantage Cooperative
Society. [20]

Q4) Write a short notes (any four): [24]

a) Objective of Co-operative Movement in India.

b) Responsibilities of Co-operative Societies.

c) Registration Cancellation of Co-operative Credit Societies.

d) Benefits of Co-operative Housing Societies.

e) Vaidyanathan Committee.

f) Recent scenario in Co-operative Movement in India.


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Total No. of Questions : 4]

[6146]-107
M.Com. (Part - I)

CO-OPERATION & RURAL DEVELOPMENT
CM514MJ : Co-operative Movement In India

 (2023 Pattern) (Credit System) (Semester - I) (60112)

(‘amR>r ê$nm§Va)
doi : 3  Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

P8742

à.à.à.à.à.1) [aº$ OmJm ^am. [6]
A) ‘hmamḯ> A§VJ©V n[a^m{fV Ho$ë¶mà‘mUo g‘mOmMo IoiVo ̂ m§S>db ghH$mar g§ñWm A{Y{Z¶‘mV ...........

i) ^abobo ^mJ ^m§S>db ii) Zâ¶mVyZ {ZYr V¶ma hmoVmo
iii) H$O© KoD$Z C^mabobo n¡go iv) darb gd©

~) ghH$mar g§ñWoMo ~§YZ åhUOo ....................
i) {b{¹$S>oeZ ii) Zm|XUr
iii) EH$ÌrH$aU iv) nwZa©MZm

H$) ‘°³boJZ g{‘VrZo ............. dfm©V Amnbm Ahdmb gaH$mabm gmXa Ho$bm.
i) 1904 ii) 1912
iii) 1915 iv) 1942

S>) ghH$mar àmW{‘H$ nV ghH$mar g§ñWoMo joÌ’$i ................ n¶ªV ‘¶m©{XV Amho.
i) amÁ¶ ñVa ii) {Oëhm ñVa
iii) amï>´r¶ ñVa iv) Jmdm§Mr nmVir

B>) SCB Mm AW© Amho
i) gmogm¶Q>r ghH$mar ~±H$m ii) eoS>çwëS> H«o${S>Q> ~±H$m
iii) amÁ¶ ghH$mar ~±H$m iv) d[að> nV ghH$mar ~±H$m

’$>) ^maVmVrb ghH$mar g§ñWm Imbrbn¡H$s H$moUVr g§KQ>ZmË‘H$ aMZm AZwgabr OmVo.
i) {dH|${ÐV aMZm ii) H|$ÐrH¥$V aMZm
iii) g§KamÁ¶ g§aMZm iv) EH$mË‘H$ aMZm
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à.à.à.à.à.2) ghH$mar g§ñWm åhUOo H$m¶? ghH$mar g§ñWoMr aMZm ñnï> H$am. [20]

qH$dm
ghH$mar J¥h{Z‘m©U g§ñWm åhUOo H$m¶? ghH$mar J¥h{Z‘m©U g§ñWm Mr d¡{eîQ>ço Am{U àH$ma ñnï> H$am.

[20]

à.à.à.à.à.3) {‘Ym© g{‘VrMm Ahdmb g{dñVa {bhm. [20]

qH$dm
ghH$mar g§ñWm åhUOo H$m¶? ghH$mar g§ñWm ’$m¶Xo Am{U VmoQ>o {bhm. [20]

à.à.à.à.à.4) {Q>nm {bhm (H$moUË¶mhr Mma)… [24]

A) ^maVmVrb ghH$mar MidirMo C{Ôï>.

~) ghH$mar g§ñWm§À¶m O~m~Xmè¶m.

H$) ghH$mar nVg§ñWm§Mr Zm|XUr aÔ H$aUo.

S>) ghH$mar J¥h{Z‘m©U g§ñWm§Mo ’$m¶Xo.

B) d¡ÚZmWZ g{‘Vr.

’$) ^maVmVrb ghH$mar MidirVrb AbrH$S>rb n[apñWVr.





Total No. of Questions : 6]

[6146]-108
First Year M.Com.

COMMERCIAL LAW AND PRACTICES
IS 508 MJ : Information System & E-Commerce Practices

(2023 Pattern) (Credit System) (Semester - I)

Time : 3 Hours] [Max. Marks : 70
Instructions to the candidates:

1) Q1 & Q6 are Compulsory.
2) Solve any three questions from Q2 to Q5.

P8776 [Total No. of Pages : 4

SEAT No. :

Q1) Fill in the blanks (Any five) [5]
a) _______ encompasses the tools that organizations use to coilect, manage

and analyze data.
i) Inter systems ii) Local systems
iii) Information systems iv) Market systems

b) A database is an organized collection of _______, or data, typically
stored electronically in a computer system.
i) tools ii) mechanisms
iii) techniques iv) structured information

c) _______ is the promotion and marketing of goods and services to
consumers through digital channels and electronic technologies.
i) Traditional marketing ii) Digital marketing
iii) Niche marketing iv) Service marketing

d) ______ is a form of prepaid account where the customer’s account
information is stored electronically.
i) E-Wallet ii) E-pocket
iii) E-Bucket iv) E-mail

e) A ________ is a mathematical scheme for verifying the authenticity of
digital messages or documents.
i) Digital token ii) Digital locator
iii) Digital idea iv) Digital signature.

f) _______ is the handling of the entire production flow of a good or
service
i) Production management ii) Supply chain management
iii) Purchase management iv) Warehouse management

P.T.O.
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Q2) What is Information System? Explain in detail Customer Relationship
Management System. [15]

Q3) What are Modern System Development Methods? Explain the Centralized
and distributed Database Systems? [15]

Q4) What is E-Commerce? Explain Advantages and Disadvantages of transacting
online. [15]

Q5) What is Electronic Payment System? Explain Security Mechanisms while paying
online. [15]

Q6) Write short notes any four : [20]

a) Management Information Systems.

b) Decision Support Systems.

c) Planning and designing of Information Systems.

d) E-Commerce business models.

e) Secure electronic transaction protocol.

f) Consumer Interaction with E-Commerce.


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Total No. of Questions : 6]

[6146]-108
First Year M.Com.

COMMERCIAL LAW AND PRACTICES
IS 508 MJ : Information System & E-Commerce Practices

(2023 Pattern) (Credit System) (Semester - I)

(‘amR>r ê$nm§Va)

doi : 3 Vmg] [ EHy$U JwU : 70

gyMZm …- 1) à. 1 Am{U à. 6 A{Zdm¶© AmhoV.
2) à. 2 Vo à. 5 n¶ªV H$moUVohr VrZ àíZ gmoS>dm.

P8776

à.à.à.à.à.1) [aH$må¶m OmJm ^am. (H$moUVohr 5) [5]

A) ............ ‘m{hVr Jmoim H$aÊ¶mgmR>r, ì¶dñWm{nV H$aÊ¶mgmR>r Am{U {díbofU H$aÊ¶mgmR>r
g§ñWm dmnaV Agbob²¶m gmYZm§Mm g‘mdoe H$aVo.

i) Am§VaàUmbr ii) ñWm{ZH$ àUmbr

iii) ‘m{hVr àUmbr iv) ~mOma àUmbr

~) S>oQ>m~og hm ............, qH$dm S>oQ>mMm EH$ g§K{Q>V g§J«h AgVmo, Omo gm‘mÝ¶V… g§JUH$ àUmbr‘Ü¶o
Bbo³Q´>m°{ZH$ nÕVrZo g§J«{hV Ho$bm OmVmo.

i) gmYZo ii) ¶§ÌUm

iii) V§Ì iv) g§a{MV ‘m{hVr

H$) ............ ho {S>{OQ>b M°Zob Am{U Bbo³Q´>m°{ZH$ V§ÌkmZmÛmao J«mhH$m§Zm dñVy Am{U godm§Mo àMma
Am{U {dnUZ Amho.

i) nma§nm[aH$ {dnUZ ii) {S>{OQ>b {dnUZ

iii) {d{eï> {dnUZ iv) godm {dnUZ

S>) ............ hm àrnoS> ImË¶mMm EH$ àH$ma Amho OoWo J«mhH$mÀ¶m ImË¶mMr ‘m{hVr Bbo³Q´>m°{ZH$
nÕVrZo g§J«{hV Ho$br OmVo.

i) B©-dm°boQ> ii) B©-nm°Ho$Q>

iii) B©-~Ho$Q> iv) B©-‘ob
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B) ............ hr {S>{OQ>b g§Xoe qH$dm H$mJXnÌm§Mr gË¶Vm nS>VmiÊ¶mgmR>r EH$ J{UVr¶ ¶moOZm
Amho.

i) {S>{OQ>b Q>moH$Z ii) {S>{OQ>b bmoHo$Q>a

iii) {S>{OQ>b H$b²nZm iv) {S>{OQ>b ñdmjar

’$) ............ hr dñVy qH$dm godoÀ¶m g§nyU© CËnmXZ àdmhmMr hmVmiUr Amho.

i) CËnmXZ ì¶dñWmnZ ii) nwadR>m gmIir ì¶dñWmnZ

iii) IaoXr ì¶dñWmnZ iv) JmoXm‘ ì¶dñWmnZ

à.à.à.à.à.2) ‘m{hVr àUmbr åhUOo H$m¶? J«mhH$ g§~§Y ì¶dñWmnZ àUmbrMo Vnerbdma dU©Z H$am. [15]

à.à.à.à.à.3) AmYw{ZH$ àUmbr {dH$mg nÕVr H$m¶ AmhoV? H|$ÐrH¥$V Am{U {dV[aV S>oQ>m~og àUmbr ñnï> H$am?[15]

à.à.à.à.à.4) B©-H$m°‘g© åhUOo H$m¶? Am°ZbmBZ ì¶dhma H$aÊ¶mMo ’$m¶Xo Am{U VmoQ>o g‘OmdyZ gm§Jm. [15]

à.à.à.à.à.5) Bbo³Q´>m°{ZH$ no‘|Q> {gñQ>‘ åhUOo H$m¶? Am°ZbmBZ no‘|Q> H$aVmZm gwajm ¶§ÌUm ñnï> H$am. [15]

à.à.à.à.à.6) H$moUË¶mhr Mma N>moQ>çm ZmoQ²>g {bhm. [20]

A) ì¶dñWmnZ ‘m{hVr àUmbr

~) {ZU©¶ g‘W©Z àUmbr

H$) ‘m{hVr àUmbrMo {Z¶moOZ Am{U aMZm

S>) B©-H$m°‘g© ì¶dgm¶ ‘m°S>ob

B) gwa{jV Bbo³Q´>m°{ZH$ ì¶dhma àmoQ>moH$m°b

’$) B©-H$m°‘g©gh J«mhH$ g§dmX


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[6146]-109
M.Com. (Part - I)

BUSINESS PRACTICES AND ENVIRONMENT
OT517MJ : Organized Trades and Markets

 (2023 Credit Pattern) (Semester - I) (60115)

Time : 3 Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Marks to the right indicate full marks.

P8743 [Total No. of Pages : 4
SEAT No. :

Q1) Fill in the blanks. [6]
a) _______is a significant characteristic that distinguishes a service from a

product according to the simultaneous production and consumption.
i) Inseparability ii) Intangibility
iii) Variability iv) Perishability

b) ______is any activity or benefit that one party can offer to another that is
essentially intangibel.
i) Service ii) Business
iii) Job iv) Salary

c) National Agiculture Market (e-NAM) Launched on_____.
i) 14 April, 2016 ii) 19 April, 2017
iii) 21 March, 2018 iv) 29 March, 2019

d) POP stands for_______in e-NAM.
i) Platform of Partners ii) Platform of Public
iii) Platform of Platforms iv) Prime Office Post

e) An investor, company, or government of one country buys an ownership
stake in business in another country is called as________.
i) Foreign Portfolio Investment (FPI)
ii) Foreign Direct Investment (FDI)
iii) High Net Investor (HNI)
iv) Foreign Institutional Investor (FII)

f) State Trading Corporation was set up in______year.
i) 1951 ii) 1956
iii) 1968 iv) 1978

P.T.O.
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Q2) What is ‘Service Sector’? Explain in detail Role and Importance of the
Service Sector in the development of India. [20]

OR

What do you mean by concept of ‘Business’ in the Modern Context? Explain
the Scope and Objectives of Business in the Modern Context. [20]

Q3) What is “Retail Trade’? Explain Role and Significance of Foreign Direct
Investment in Retail Trade. [20]

OR

What is ‘Cooperative Marketing’? Explain Types and Functions of
Cooperative Marketing. [20]

Q4) Write short notes on. (Any Four): [24]

a) Tourism Service Sector

b) National Agriculture Market

c) State Trade in Agriculture

d) D-Mart

e) Features of Regulated Market

f) Administration of Supermarkets


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Total No. of Questions : 4]

[6146]-109
M.Com. (Part - I)

BUSINESS PRACTICES AND ENVIRONMENT
OT517MJ : Organized Trades and Markets

 (2023 Credit Pattern) (Semester - I) (60115)

(‘amR>r ê$nm§Va)
doi : 3  Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àý A{Zdm¶© AmhoV.
2) COdrH$S>rb A§H$ nwU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘wi B§J«Or àýn{ÌH$m nhmdr.

P8743

à.à.à.à.à.1) [aH$må¶m OmJm ^am. [6]

A) .............. ho EH$ ‘hÎdnyU© d¡{eï²>¶ Amho Oo EH$mM doir CËnmXZ Am{U Cn^moJmZwgma
CËnmXZmnmgyZ godm doJio H$aVo.

i) A{d^mÁ¶Vm ii) A‘yV©Vm

iii) n[adV©ZerbVm iv) Zmed§VVm

~) .................... Agm H$moUVmhr {H«$¶mH$bmn qH$dm bm^ Amho Omo EH$ nj Xþgè¶mbm XoD$
eH$Vmo Omo ‘ybV… A‘yV© Amho.

i) godm ii) ì¶dgm¶

iii) ZmoH$ar iv) nJma

H$) amï>´r¶ H¥$fr ~mOma (e-NAM) .............. amoOr gwê$ Pmbr.

i) 14 E{àb, 2016 ii) 19 E{àb, 2017

iii) 21 ‘mM©, 2018 iv) 29 ‘mM©, 2019

S>) B©-Zm‘ ‘Ü¶o nrAmonr Mo nyU© ê$n .................. Amho.

i) ßb°Q>’$m°‘© Am°’$ nmQ>©Zg© ii) ßb°Q>’$m°‘© Am°’$ npãbH$

iii) ßb°Q>’$m°‘© Am°’$ ßb°Q>’$m°‘© iv) àmB‘ Am°{’$g nmoñQ>
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B>) EImÚm XoemMm Jw§VdUyH$Xma, H§$nZr qH$dm gaH$ma Xþgè¶m XoemVrb ì¶dgm¶mV ‘mbH$s h¸$
{dH$V KoVo ¶mbm .............. Ago åhUVmV.

i) {dXoer nmoQ>©’$mo{bAmo Jw§VdUyH$ (FPI)

ii) WoQ> {dXoer Jw§VdUyH$ (FDI)

iii) Cƒ {Zìdi Jw§VdUyH$Xma (HNI)

iv) naH$s¶ g§ñWmË‘H$ Jw§VdUyH$Xma (FII)

’$) amÁ¶ ì¶mnma ‘hm‘§S>imMr ñWmnZm ............... ¶m dfu Pmbr.

i) 1951 ii) 1956

iii) 1968 iv) 1978

à.à.à.à.à.2) ‘godm joÌ’ åhUOo H$m¶? ̂ maVmÀ¶m {dH$mgmV godm joÌmMr ̂ y{‘H$m Am{U ‘hÎd g{dñVa ñnï> H$am.[20]

qH$dm

AmYw{ZH$ g§X^m©V ‘ì¶dgm¶‘ ¶m g§H$ënZoMm AW© H$m¶ Amho? AmYw{ZH$ g§X^m©V ì¶dgm¶mMr ì¶már
Am{U C{Ôï>o ñnï> H$am. [20]

à.à.à.à.à.3) {H$aH$moi ì¶mnma åhUOo H$m¶? {H$aH$moi ì¶mnmamV WoQ> naH$s¶ Jw§VdUyH$sMr ŷ{‘H$m Am{U ‘hÎd ñnï>
H$am. [20]

qH$dm

‘ghH$mar {dnUZ’ åhUOo H$m¶? ghH$mar {dnUZmMo àH$ma Am{U H$m¶} ñnï> H$am. [20]

à.à.à.à.à.4) {Q>nm {bhm. (H$moUË¶mhr Mma) [24]

A) n¶©Q>Z godm joÌ

~) amï´>r¶ H¥$fr ~mOma

H$) H¥$fr amÁ¶ ì¶mnma

S>) S>r - ‘mQ>©

B) {Z¶‘Z ~mOmamMr d¡{eï²>¶o

’$) gwna‘mH}$Q>Mo àemgZ


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[6146]-110
M.Com. (Part - I)

COMMERCE
PO520MJ : Production and Operation Management (Bussiness

Administration)
(2023Pattern) (Credit System) (Semester - I) (60118)

Time : 3 Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to be right indicate full marks.

P8744 [Total No. of Pages : 4
SEAT No. :

Q1) Finll in the blanks. (Any 6) [6]

a) A production system takes inputs________.

(Raw material, goods, service, Transport)

b) _______is a father of scientific managment.

(F.W. Taylor, Henry Grnat, Walter Shewhart, Henry Ford)

c) Human resource management includes________.

(Recruiting, Money, Goods, Service)

d) Six Sigma technique directly deals with the_______of a product.

(Size, Quantity, Quality, Money)

e) Inventories include________.

(Finished parts, Capital, Service, Bank)

f) The market survey method involves_______.

(Supply, Collecting data, Production, Sales)

g) SQC stands for________

(Statistical Quality Control, Statistical Quantity Control, Statistical
Quantum Control, Statistical Quotation Control)

h) Merger means________

(Joining together of two separate companies, Company, Firm, Only One
Company)

P.T.O.
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Q2) What do you mean plant location? Explain the factors affecting on choice of
Plant. [20]

OR

What do you mean by Production System? Explain the types of Production
System. [20]

Q3) Explain the Recent Trends and Development in Operations Management.[20]

OR

Explain the process and components of Supply Chain Management. [20]

Q4) Write Short Notes (Any 4 out of 6) [24]

a) Batch production

b) Features of continues product system

c) Techniques of Total Quality Control

d) Types of Productivity Measurement

e) Barriers in Supply Chain Managment

f) Inventory Management


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Total No. of Questions : 4]

[6146]-110
M.Com. (Part - I)

COMMERCE
PO520MJ : Production and Operation Management (Bussiness

Administration)
(2023Pattern) (Credit System) (Semester - I) (60118)

(‘amR>r ê$nm§Va)
doi : 3 Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.
2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

P8744

à.à.à.à.à.1) [aH$må¶m OmJm ^am. (H$moUË¶mhr 6) [6]

A) CËnmXZ àUmbr ‘Ü¶o ............ ho B©ZnyQ> gmYZ Amho.

(H$ƒm ‘mb, ‘mb, godm, dmhVyH$)

~) ............... ho emór¶ ì¶dñWmnZmMo OZH$ hmo¶.

(E’²$. S>ãë¶y Q>oba, hoZ«r J°ÝQ>, dm°ëQ>a goOhQ>©, hoZ«r ’$moS>©)

H$) ‘mZdr g§gmYZ ì¶dñWmnZm‘Ü¶o ............. g‘m{dï> Amho.

(^aVr, n¡gm, ‘mb, godm)

S>) {g³g {g½‘m V§Ì ................... er g§~§{YV Amho.

(AmH$ma, g§»¶m, JwU, n¡gm)

B) CËnmXZ gmR>çm‘Ü¶o ................. ̂ mJm§Mm g‘mdoe hmoVmo.

(A§{V‘^mJ, ^m§S>db, godm, ~±H$)

’$) ~mOma gd}jU nÕVrV ................. g‘m{dï> Amho.

(nwadR>m, ‘m{hVr Jmoim H$aUo, CËnmXZ, {dH«$s)

¶>) Eg².³¶y. gr Mo {dñVmarV .....................

(gm§p»¶H$s¶ JwU {Z¶§ÌU, gm§p»¶H$s¶ g§»¶m {Z¶§ÌU, gm§p»¶H$s¶ à‘mU {Z¶§ÌU, gm§p»¶H$s¶
Z‘wZm {Z¶§ÌU)

a) {dbrZrH$aU åhUOo ..................

(XmoZ ñdV§Ì H§$nÝ¶m§Mo EH$Ì ¶oUo, H§$nZr, g§ñWm, ’$º$ EH$M H§$nZr)
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à.à.à.à.à.2) CËnmXZ ñWmZ ¶mMm AW© gm§JyZ AW© gm§Jm. CËnmXZ ñWmZ {ZdS>rda n[aUm‘ H$aUmao KQ>H$ ñnï> H$am.
[20]

qH$dm
CËnmXZ àUmbrMm AW© gm§JyZ CËnmXZ àUmbrMo àH$ma ñnï> H$am. [20]

à.à.à.à.à.3) à{H«$¶m ì¶dñWmnZmVrb AbrH$S>rb àdmh Am{U {dH$mg ñnï> H$am. [20]

qH$dm
nwadR>m gmIir ì¶dñWmnZmMr à{H«$¶m d KQ>H$ ñnï> H$am. [20]

à.à.à.à.à.4) {Q>nm {bhm. (H$moUVohr 4) [24]

A) ~°M (JQ>) CËnmXZ

~) gVV CËnmXZ àUmbrMr d¡{eîQ>ço

H$) EHy$U JwUdÎmm {Z¶§ÌUmMr V§Ìo

S>) CËnmXZ ‘moO‘mnmMo àH$ma

B) nwadR>m gmIir ì¶dñWmnZmVrb AS>Wio

’$) gmR>m ì¶dñWmnZ


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First Year M.Com.

ADVANCED ACCOUNTING & TAXATION
PT - 505 MJ : Personal Income Tax & Tax Planning

(2023 Credit Pattern) (Semester - I)

Time : 3 Hours] [Max. Marks : 70
Instructions to the candidates:

1) Question No. 1 and 6 are compulsory.
2) Attempt any three questions from Question No. 2 to 5.

P8745 [Total No. of Pages : 4

SEAT No. :

Q1) Fill in the Blanks: [6]

a) ________ is applicable to an Individual and HUF having income under
the head business or profession.

i) ITR - 1 ii) ITR - 2

iii) ITR - 3 iv) ITR - 4

b) ________ is an allowance given to employees by employer to compensate
for the rising cost of living due to inflation.

i) City compensatory allowance ii) Dearness allowance

iii) Conveyance allowance iv) Special allowance

c) ________ is a method of reducing incidence of tax by taking advantage
of certain loopholes in tax laws.

i) Tax Evasion ii) Tax Avoidance

iii) Taxable Income iv) Tax Management

d) ________ means the income of the assessee is treated as deemed
assessee while computing the income under the various heads.

i) Total Income ii) Gross Total Income

iii) Tax Planning iv) Clubbing of Income

e) ________ is not a capital asset.

i) Property ii) Stock in trade

iii) ULIP Policy iv) Securities bought by FII

f) Statutory providend fund is set up under the provisions of the ________.

i) Providend Fund Act, 1925 ii) PF Act,  1952

iii) Providend Fund Act, 1926 iv) Providend Fund Act, 1927

P.T.O.
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Q2) a) Explain the conditions determining Residential Status of an Individual
and HUF. [9]

b) What do you mean by Income-tax return? What are the various forms
which are to be filed by different categories of assessee while filling
Income tax return. [9]

Q3) Mr. Ashish, a resident individual, furnishes the following Profit and Loss
Account for the year ending 31, March, 2023. [18]
Particulars Amount Particulars Amount

H H
Salary to staff 2,52,000 Gross profit 6,86,000

General expenses 30,000 Commission and Discount 2,17,200

Loss due to Sundry receipts 43,000

embezzlement by an Short term profit on

employee 15,000 Sale of Investment 31,000

Reserve for losses 2,000

Fire Insurance

(office premises) 4,200

Advertisment        2,400

Add: Outstanding 1,600 4,000

Education expenses for

his son 3,500

Interest on Bank Loan 14,500

Expenditure on acquisition

of a patent right acquired and

put to use on June 30, 2021 17,000

Lumpsum consideration for

acquiting know-how on

March 3, 2023 60,000

Depreciation on plant and

Machinery 18,000

Provision for outstanding

GST 13,000

Net profit 5,44,000

9,77,200 9,77,200
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Other Information:

a) Advertisment expenditure includes H 3,400 being cost of 100 daries

presented to customers.

b) W.D.V. of plant and machinery on 1.4.2022 is H 1,20,000. A new

machinery costing H 60,000 has been installed during the month of

December, 2022. Plant & Machinery is eligible for depreciation at 15%.

c) Salary to staff includes a payment of H 65,000 given to an employee

outside India and tax has not been deducted at source.

d) Out of outstanding GST and Excise duty, H 3,000 is paid on July 10,

2023 and H 8,000 is paid on October 3, 2023. The balance is not paid as

yet. Due date of filling return of income is July 31, 2023.

e) General expenses include (i) expenditure of H 4,800, incurred on training

of employees, (ii) commission of H 10,000 for securing business order.

(iii) Compensation of H 6,000 paid to an employee on termination of

services in the business interest.

f) Income of Mr. Ashish from company deposit is H 12,000, which is not

shown in Profit & Loss Account.

g) W.D.V. of the block of furniture as on 1.4.2022 is H 9,000. The entire block

was sold for H 6,000. The assessee did not debit the loss in P & L A/c.

h) Sundry Receipts include H 25,000 withdrawn from his P.P.F. compute

income from business for A.Y. 2023-2024.
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Q4) a) Explain the difference between Tax Evasion and Tax Avoidance. [9]

b) Explain the tax planning in relation to Business. [9]

Q5) Mr. Adhiraj (37 years) a Business. His income for the previous year 2022-23

from Business is H 14,00,000, besides he has interest on savings bank account

of H 21,000. He annually contributes H 1,50,000 towards public provident

fund. Mr. Adhiraj wants to know whether he should opt. for alternative tax

regime from the Assessment year 2023-2024. [18]

Q6) Write short notes (Any Two): [10]

a) Tax free allowances.

b) Types of Capital Asset.

c) Types of House Property.

d) E-Filing.


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ADVANCED MARKETING
SM526MJ : Social Media Marketing

 (2023 Pattern) (Credit System) (Semester - I) (60124)

Time : 3 Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P8746 [Total No. of Pages : 4
SEAT No. :

Q1) Fill in the blanks. [6]

a) Introduction to social media is a fundamental of digital marketing to build
a successful social media strategy, its essential to sel clear________

i) Objectives ii) Hashtags

iii) Twitter accounts iv) You Tube Channels

b) When it comes to twitter and You Tube_________marketing, creating a
Twitter account and optimizing the page is essential for______.

i) Email marketing ii) Social media advertising

iii) Building a Linkedin profile iv) Gaining Twitter Followes

c) Search engine optimization (SEO) is a crucial element in digital marketing
understanding SEO involves grasping the________

i) Recent trends and challenges ii) Basic of social media

iii) Principal of Web Hosting iv) Traditional advertising methods

d) Website hosting using word press includes different phases of website
development one of these phase is________

i) Selecting a domain

ii) Creating social media profiles

iii) Using hashtags effectively

iv) Setting up a You Tube Channel

P.T.O.
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e) One of the key aspects of instagram______marketing is setting a there
and flow on Instogram. This involves creating content types and
ensuring a consistent.
i) Email marketing campaign
ii) You Tube channel
iii) Social media strategy
iv) Visual style

f) A critical part of you Tube marketing is-creating a youtube channel and
optimizing for video content. You Tube alalystic in-understanding video
performance and auidance___________
i) Hashtag usage
ii) Social media engagement
iii) Insights
iv) SEO trends

Q2) Describe the key elements of a successful social media strategy. How do you
set and measure goals in social media marketing? [20]

OR
Explain the different aspects of Instagram-marketing. Including the use of
automation, Audience insights and generating leads.

Q3) Discuss the importance of Twitter in social media marketing? How can a
personal brand be integrated in to Twitter marketing. [20]

OR
Explain the information about search engine optimization (SEO) and explain
the challenges of SEO.

Q4) Wrie  Short Notes (Any Four): [24]
a) Traditional media v/s social media
b) Facebook and campaign
c) You Tube marketing
d) Significance of wordpress plug in website development
e) Instagram
f) WWW


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Total No. of Questions : 4]

[6146]-112
M.Com. (Part - I)

ADVANCED MARKETING
SM526MJ : Social Media Marketing

 (2023 Pattern) (Credit System) (Semester - I) (60124)

(‘amR>r ê$nm§Va)
doi : 3  Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

P8746

à.à.à.à.à.1) [aH$må¶m OmJoV ¶mo½¶ eãX ^am. [6]

A) gmoeb {‘{S>¶mMm n[aM¶ hm {S>OrQ>b ‘mH}$qQ>JMm EH$ ‘yb ŷV n¡by Amho. ¶eñdr gmoeb {‘{S>¶m
YmoaU V¶ma H$aÊ¶mgmR>r, ñnï> ............... goQ> H$aUo Amdí¶H$ Amho.

i) C{X²Xï>o ii) h°eQ>°J

iii) Q²>drQ>a ImVo iv) ¶w Q>çw~ Mm¶Zb

~) Q²>drQ>a Am{U ¶w Q>çw~ ‘mH}$qQ>JMm àíZ ¶oVmo Voìhm ........... gmR>r Q²>drQ>a ImVo V¶ma H$aUo Am{U
n¥ð> Am°ßQ>r‘mBO H$aUo Amdí¶H$ Amho.

i) B© ‘ob ‘mH}$qQ>J ii) gmoeb {‘{S>¶m Om{hamVr

iii) qbH$ BZ àmo’$mBb V¶ma H$aUo iv) Q²>drQ>a ’$m°bmoAg© {‘i{dUo

H$) emoY B§{OZ Am°ßQ>r‘m¶PoeZ (SEO) hm {S>OrQ>b ‘mH}$qQ>J ‘Yrb EH$ ‘hÎdmMm KQ>H$ Amho.
EgBAmo g‘OyZ KoÊ¶mV ............. g‘OyZ KoUo g‘m{dï> Amho.

i) AbrH$S>rb Q>ó§S> Am{U AmìhmZo ii) gmoeb {‘S>r¶m ‘yb ŷV

iii) do~ hmoñQ>tJMr VÎdo iv) nma§nm[aH$ Om{hamV nÕVr

S>) dS>©no«g dmnê$Z do~gmBQ> hmoñQ>tJ‘Ü¶o do~gmB©Q> {dH$mgmMo {d{dY Q>ßno g‘m{dï> AmhoV. ¶mn¡H$s
EH$ Q>ßnm ............. Amho.

i) S>mo‘oZ {ZdS>Uo ii) gmoeb {‘S>r¶m àmo’$mBb V¶ma H$aUo

iii) h°eQ>°J à^mdrnUo dmnaUo iv) ¶w Q>çw~ Mm¶Zb goQ> H$aUo
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B) B§ñQ>mJ«m‘ ‘mH}$qQ>JÀ¶m ‘w»¶ n¡byn¡H$s EH$ åhUOo B§ñQ>mJ«m‘da Wr‘ Am{U àdmh goQ> H$aUo ¶m‘Ü¶o
gm‘J«r àH$ma ³¶wQ>oQ> H$aUo Am{U gwg§JV ............... gw{ZpíMV H$aUo g‘m{dï> Amho.

i) B© ‘ob {dnUZ ‘mo{h‘ ii) ¶w Q>çw~ Mm¶Zb

iii) gmoeb {‘S>r¶m YmoaU iv) Ñí¶ e¡br

’$) ¶w Q>çw~ ‘mH}$qQ>JMm EH$ ‘hÎdmMm ^mJ åhUOo ¶wQ>çw~ Mm¶Zb V¶ma H$aUo Am{U ìhr.S>r.Amo.
gm‘wJ«r gmR>r Vo Am°ßQ>r‘mBO H$aUo ¶wQ>çw~ {díbofU pìhS>rAmo H$m¶©àXe©Z Am{U àoeH$ ............
g‘OyZ KoÊ¶mV ‘XV H$aVmV.

i) h°eQ>°J Mm dmna ii) gmoeb {‘{S>¶m à{V~X²YVm

iii) A§VÑï>r iv) SEO Q>óS>

à.à.à.à.à.2) ¶eñdr gmoeb {‘{S>¶m ñQ>°Q>oOrÀ¶m ‘w»¶ KQ>H$m§Mo dU©Z H$am. gmoeb {‘S>r¶m ‘mH}$qQ>J‘Ü¶o Vwåhr bj
H$go goQ> H$aVm Am{U ‘moOVm. [20]

qH$dm

B§ñQ>mJ«m‘ ‘mH}$qQ>JÀ¶m {d{dY n¡by§Mo ñnï>rH$aU H$am, Á¶m‘Ü¶o Am°Q>mo‘oeZMm dmna àoeH$ A§VÑï>r Am{U
bmoS> V¶ma H$aUo g‘m{dï> Amho.

à.à.à.à.à.3) gmoeb {‘{S>¶m ‘mH}$qQ>J ‘Ü¶o Q²>drQ>aMo ‘hÎd MMm© H$am Q²>drQ>a ‘mH}$qQ>J‘Ü¶o d¡¶{º$H$ ~«±S> H$gm
g‘mH${bV Ho$bm OmD$ eH$Vmo? [20]

qH$dm

emoY B§{OZ Am°ßQ>r‘m¶PoeZMr ‘m{hVr ñnï> H$ê$Z emoY B§{OZ Am°ßQ>r‘m¶PoeZ ‘Yrb AmìhmZo ñnï> H$am.

à.à.à.à.à.4) {Q>nm X²¶m (H$moUË¶mhr Mma) [24]

A) nma§nm[aH$ {‘{S>¶m {dê$Õ gmoeb ‘rS>r¶m

~) ’o$g~wH$ Om{hamV ‘mohr‘

H$) ¶w Q>çw~ {dnUZ

S>) do~gmB©Q> S>oìhbon‘|Q>‘Ü¶o dS>©àog ßbJMo ‘hÎd

B) B§ñQ>mJ«m‘

’$) dëS>© dmB©S> do~ (WWW)


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ADVANCED COST ACCOUNTING & COST SYSTEM
CD 512 MJ : Costs for Decision Making & Activity Based Costing

 (2023 Pattern) (Credit System) (Semester - I) (60110)

Time : 2 Hours] [Max. Marks : 35
Instructions to the candidates:

1) Question No. 1 is compulsory.
2) Attempt any three questions from Q.2 to Q.5.

P8747 [Total No. of Pages : 2
SEAT No. :

Q1) Fill in the blanks (any 5) [5]
a) Sunk cost is the example of __________ cost.

i) Relevant
ii) Irrelevant
iii) Marginal

b) The General manager’s meeting was most likely a result of the following
management function.
i) Controlling
ii) Planning
iii) Decision making

c) In the short run, costs will not have __________.
i) Cost centre
ii) Cost driver
iii) ABC system

d) ________ costs are relevant cost.
i) Variable
ii) Fixed
iii) Semi-variable

P.T.O.
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e) Identification of indirect costs with each activity is known as __________.
i) Cost pool
ii) Cost driver
iii) Overheads

f) A _______ is an activity which generates cost.
i) Marginal costing
ii) Budget
iii) Activity based costing

Q2) Explain the term Relevant costs & Irrelevant costs. State the difference between
Relevant cost & Irrelevant cost. [10]

Q3) Explain the steps/stages involved in Activity based costing. [10]

Q4) A factory produces a number of different products each having a number of
components product X takes 10 hours to produce on a particular equipment
which works at full capacity. The selling price and variable cost of product X
are Rs. 200 and Rs. 120 per unit respectively. A components Wye - 2013 can
be made in the same equipments in four hours incurring a variable cost of Rs.
20 per unit. The factory purchases the component at a price of Rs. 50 per
unit. Advise the factory management whether they should by the component
Wye - 2013. [10]

Q5) Write short notes (any 2) [10]
a) Limiting factor.

b) Out - of - pocket costs.

c) Scope of Activity Based costing.

d) Extra shift Decision.


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First Year M.Com.

ADVANCED ACCOUNTING & TAXATION
DT 506 MJ : Direct Tax

 (2023 Pattern) (Credit System) (Semester - I)

Time : 2 Hours] [Max. Marks : 35
Instructions to the candidates:

1) Question No. 1 is compulsory.
2) Attempt any three questions from Q.2 to Q.5.

P8777 [Total No. of Pages : 2
SEAT No. :

Q1) Fill in the blanks. [5]
a) ______ incurred for increasing the earning capacity of the business by

improving the fixed assets.
i) Revenue expenditure ii) Capital expenditure
iii) Recurning expenditure iv) Repairs

b) The finance Act is passed every year by the parliament in the form
popularly known as ________.
i) Income Tax Act, 1961 ii) Assessment year
iii) Balance of payment iv) Budget

c) Every person is liable to pay advance tax if advance tax payable isN
_______ or more.
i) N10,000 ii) N20,000
iii) N50,000 iv) N30,000

d) Profit made on sale/transfer of capital assets is known as _________.
i) Capital Receipts ii) Revenue Receipts
iii) Capital Gein iv) Revenue Gain

e) Assessment year is also called as _________.
i) Previous year ii) Succeeding year
iii) Annual year iv) Government year

Q2) What do you mean by Income Tax ? Explain the features of Income Tax.[10]
Q3) Explain the exemptions and deductions disallowed under Alternative Tax

Regime.  [10]
P.T.O.
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Q4) Solve the following problems. (Any 2)
a) Mr. Ramesh (42 years) is resident in India for the assessment year 2023-

24. For the previous year. 2022-23, his income chargeable to tax in India
is Rs. 10,30,000. Find out tax liability of Mr. Ramesh. [5]

b) Moon Ltd. is an Indian company. For the previous year 2022-23, income
of the company is Rs. 10,76,000 (Calculating after the deducting
depreciation at the rate of 20% on written down value of Rs.
8,16,295)suppose, depreciation rate is 22% up to March, 1 2023, 17%
from March 1, 2023 to May 1,2023 and 22% after May 1, 2023, find out
the taxable income of Moon Ltd. For the assessment year 2023-24. [5]

c) Yogesh (19 years) commerces a new business of dealing in imported
goods on December 5,2022 (he dose not have any source of income
prior to commencement of this business). Income of the business for
the previous year ending March 31, 2023 is Rs. 24,00,000. He contributes
Rs. 1,14,450 towords public provident fund on January 1,2023 and pays
advance tax of Rs. 90,000 on March 6, 2023. Find out interest payable
under section 234C Ignore section 115 BAC pertaining to alternative tax
regime. [5]

d) Find out the amount of interest payable under section 234A in the
following cases: [5]

A Ltd BLtd
Date of submission of February March
return of income for the
assessment year 2024-25 1,2024 14,2025
Date of payment of October March
self-assessment tax 25,2024 31,2025

Rs. Rs.
Tax on income assessed 9,10,570 8,00,000
by the department
(after deducting advance
 tax and TDS)
self - assessment tax paid 2,57,000 82000

Q5) Write short notes (any 2) [10]
a) Assessment year & previous year.
b) Advance payment of Tax.
c) Methods of Accounting.
d) Capital Expenditure and Revenue expenditure.


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EC521MJ : E-COMMERCE
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Time : 2 Hours] [Max. Marks : 35
Instructions to the candidates:

1) All questions are compulsory.
2) Marks to the right indicate full marks.

P8748 [Total No. of Pages : 4
SEAT No. :

Q1) Fill in the blanks with the appropriate answers. [5]
a) What does mPOS stand for?

i) Mobile Point of Sale

ii) Machine Point of Sale

iii) Message Point of Sale

iv) Metro Point of Sale

b) What is the facility of Transfer Money from Customer Account to the
Account of the beneficiary.

i) Bank Funds Transfer ii) Customer Funds Transfer

iii) Cash Funds Transfer iv) Credit Funds Transfer

c) The Last Step in the E-Commerce process is________.

i) Accept the Order ii) Reject the Order

iii) Process the Order iv) Ship the Order

d) What does B2B stand for?

i) Buyer to Buyer ii) Business to Business

iii) Business to Buyer iv) Business to Builder

e) Which is a function of E-Commerce?

i) Marketing ii) Advertising

iii) Warehousing iv) All of the above

P.T.O.
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Q2) Describe the E-Commerce Business Models. [10]

OR

Describe the factors responsible for the growth of  E-Commerce in India.

Q3) What is Digital Currency? Explain the Advantages and Disadvantages of
Digital Currencies. [10]

OR

What is UPI? Explain the Features and Benefits of UPI.

Q4) Wrie short notes on (any two): [10]

a) Smart Cards

b) Online Banking

c) NEFT and RTGS

d) Mobile Hacking


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First Year M.Com.

EC521MJ : E-COMMERCE
 (2023 Pattern) (Credit System) (Semester - I) (60119)

(‘amR>r ê$nm§Va)
doi : 2  Vmg] [ EHy$U JwU : 35

gyMZm …- 1) gd© àíZ A{Zdm¶© AmhoV.
2) COdrH$S>rb A§H$ nwU© JwU Xe©{dVmV.

P8748

à.à.à.à.à.1) ¶mo½¶ n¶m©¶ {ZdSy>Z [aH$må¶m OmJm ^am. [5]

A) mPOS åhUOo H$m¶?

i) ‘mo~mB©b nm°B§Q> Am°’$ gob ii) ‘erZ nm°B§Q> Am°’$ gob

iii) ‘ogoO nm°B§Q> Am°’$ gob iv) ‘oQ´>mo nm°B§Q> Am°’$ gob

~) J«mhH$mÀ¶m ImË¶mVyZ bm^mWuÀ¶m ImË¶mV n¡go hñVm§V[aV H$aÊ¶mMr gw{dYm H$m¶ Amho?

i) ~±H$ {ZYr hñVm§VaU ii) J«mhH$ {ZYr hñVm§VaU

iii) amoI {ZYr hñVm§VaU iv) H«o${S>Q> {ZYr hñVm§VaU

H$) B©-H$m°‘g© à{H«$¶oVrb eodQ>Mm Q>ßnm Amho ....................

i) Am°S>©a ñdrH$mam ii) Am°S>©a ZmH$maUo

iii) Am°S>©ada à{H«$¶m H$am iv) Am°S>©a nmR>dUo

S>) B2B åhUOo H$m¶?

i) IaoXrXma Vo IaoXrXma ii) ì¶dgm¶ Vo ì¶dgm¶

iii) ì¶dgm¶ Vo IaoXrXma iv) ì¶dgm¶ Vo {~ëS>a

B>) B©-H$m°‘g©Mo H$m¶© H$moUVo Amho?

i) {dnUZ ii) Om{hamV

iii) JmoXm‘ iv) darb gd©
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à.à.à.à.à.2) B©-H$m°‘g© ì¶dgm¶ àUmbrMo dU©Z H$am. [10]

qH$dm
^maVmVrb B©-H$m°‘g©À¶m dmT>rg O~m~Xma Agboë¶m KQ>H$m§Mo dU©Z H$am.

à.à.à.à.à.3) {S>{OQ>b MbZ åhUOo H$m¶? {S>{OQ>b MbZm§Mo ’$m¶Xo Am{U VmoQ>o ñnï> H$am. [10]

qH$dm
UPI åhUOo H$m¶? UPI Mr d¡{eï²>¶o Am{U ’$m¶Xo ñnï> H$am.

à.à.à.à.à.4) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]

A) ñ‘mQ>© H$mS²>©g

~) Am°ZbmB©Z ~±qH$J

H$) NEFT Am{U RTGS

S>) ‘mo~mB©b h°qH$J





Total No. of Questions : 3]

[6146]-116
M.Com. - I

ADVANCED MARKETING
EM527MJ : Event Management

 (2023 Pattern) (Semester - I) (60125)

Time : 2 Hours] [Max. Marks : 35
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P8778 [Total No. of Pages : 2
SEAT No. :

Q1) Define Event Management. Explain the types of events. [10]

Q2) Explain the responsibilities of a corporate event organizer. [10]

Q3) Short notes (Any three) : [15]

a) Tools for event planning and management.

b) Corporate event Reporting.

c) Human resource management for events.

d) Corporate Hospitality.



P.T.O.
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Total No. of Questions : 3]

[6146]-116
M.Com. - I

ADVANCED MARKETING
EM527MJ :  Event Management

 (2023 Pattern) (Semester - I) (60125)

(‘amR>r ê$nm§Va)
doi : 2 Vmg] [ EHy$U JwU : 35

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘wi B§J«Or àíZn{ÌH$m nhmdr.

P8778

à.à.à.à.à.1) H$m¶©H«$‘ ì¶dñWmnZmMr ì¶m»¶m gm§JyZ H$m¶©H«$‘mMo àH$ma ñnï> H$am. [10]

à.à.à.à.à.2) H$mnm}aoQ> H$m¶©H«$‘ g§ñWoMr O~m~Xmar ñnï> H$am. [10]

à.à.à.à.à.3) {Q>nm {bhm. (H$moUVohr VrZ) [15]

A) H$m¶©H«$‘ {Z¶moOZ d ì¶dñWmnZmMr gmYZo ñnï> H$am.

~) H$mnm}aoQ> H$m¶©H«$‘ Ahdmb

H$) H$m¶©H«$‘mgmR>r ‘mZdr g§gmYZ ì¶dñWmnZ

S>) H$mnm}aoQ> AmXam{VÏ¶





Total No. of Questions : 4]

[6146]-117
M.Com. - I

COMMERCE
LL509MJ : Labour Laws

Commercial Laws & Practices
(NEP 2023 Pattern) (Credit System) (Semester - I) (60107)

Time : 2 Hours] [Max. Marks : 35
Instructions to the candidates:

1) All questions are compulsory.
2) Marks to the right indicate full marks.

P8749 [Total No. of Pages : 4
SEAT No. :

Q1) Fill up the blanks with appropriate answers. [5]

a) _____is the primary purpose of the International Labour Organization
(ILO).

(Promoting Global Trade, Advocating for worker’s rights and labour
standards, Regulating International Finance)

b) Under______law, employers are required to pay their employees at least
the minimum wage.

(Occupational Safety and Health Act, Fair Labor Standards Act, Family
and Medical Leave Act)

c) _______event marked a significant turning point in the development of
labor laws in India.

(Industrial Disputes Act, Passing of Factories Act, The Great Bombay
Textile Strike)

d) ______types of injuries or accidents are covered under the Workmen’s
Compensation Act.

(Only accident occuring during work hours, Accidents occurring outside
the workplace, Work-related injuries and accidents)

e) ________contributes to the Employees Pension Scheme under the
Employee’s Pension Funds Act.

(Only Employees, Only Employers, Both Employees and Employers)

P.T.O.
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Q2) Explain the Principles of Labour laws. [10]

OR

Explain in detail the references of International Law in India.

Q3) Explain in detail the Minimum Wages Act, 1948. [10]

OR

Describe in detail laws relating to Social Security and Safety Measures.

Q4) Wrie Short Notes (Any Two) [10]

a) Development of Labour Law

b) Payment of Bonus Act

c) Labour Law

d) Worker National Security Act


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Total No. of Questions : 4]

[6146]-117
M.Com. - I

COMMERCE
LL509MJ : Labour Laws

Commercial Laws & Practices
(NEP 2023 Pattern) (Credit System) (Semester - I) (60107)

(‘amR>r ê$nm§Va)
doi : 2 Vmg] [ EHy$U JwU : 35

gyMZm …- 1) gd© àý A{Zdm¶© AmhoV.
2) COdrH$S>rb JwU nyU© JwU Xe©dVmV.
3) g§X^m©gmR>r ‘yi B§J«Or àýn{ÌH$m nhmdr.

P8749

à.à.à.à.à.1) ¶mo½¶ n¶m©¶mgh [aº$ OmJm ^am. [5]

A) ................... hm Am§Vaamï´>r¶ H$m‘Jma g§KQ>ZoMm (ILO) àmW{‘H$ CÔoe Amho.

(OmJ{VH$ ì¶mnmambm MmbZm XoUo, H$m‘Jmam§Mo h¸$ Am{U H$m‘Jma ‘mZH$m§Mo g‘W©Z H$aUo,
Am§Vaamï´>r¶ {dÎmmMo {Z¶‘Z H$aUo)

~) .................... H$m¶ÚmZwgma, {Z¶mo³Ë¶m§Zr Ë¶m§À¶m H$‘©Mmè¶m§Zm {H$‘mZ doVZ XoUo Amdí¶H$
Amho.

(ì¶mdgm{¶H$ gwajm Am{U Amamo½¶ H$m¶Xm, C{MV H$m‘Jma ‘mZH$ H$m¶Xm, Hw$Qw>§~ Am{U d¡ÚH$s¶
aOm H$m¶Xm)

H$) ................... ¶m KQ>ZoZo ^maVmVrb H$m‘Jma H$m¶Úm§À¶m {dH$mgmV ‘hÎdnyU© diU {‘imbo.

(Am¡Úmo{JH$ {ddmX H$m¶Xm, H$maImZm H$m¶Xm ‘mÝ¶Vm, X J«oQ> ~m°å~o Q>o³gQ>mB©b ñQ´>mBH$)

S>) ................... àH$maÀ¶m XþImnVr qH$dm AnKmV H$m‘Jmam§À¶m ZwH$gmZ^anmB© H$m¶Úm§VJ©V
g‘m{dï> AmhoV.

(Ho$di H$m‘mÀ¶m doioV hmoUmao AnKmV, H$m‘mÀ¶m {R>H$mUm~mhoa hmoUmao AnKmV, H$m‘mer g§~§{YV
XþImnVr Am{U AnKmV)

B) H$‘©Mmar noÝeZ ’§$S> H$m¶Úm§VJ©V H$‘©Mmar noÝeZ ¶moOZoV .................. ¶moJXmZ XoVmV.

(Ho$di H$‘©Mmar, ’$º$ {Z¶moºo$, H$‘©Mmar Am{U {Z¶moºo$ XmoKohr)
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à.à.à.à.à.2) H$m‘Jma H$m¶Úm§Mr VÎdo ñnï> H$am. [10]

qH$dm
^maVmVrb Am§Vaamï´>r¶ H$m¶ÚmMo g§X ©̂ Vnerbdma ñnï> H$am.

à.à.à.à.à.3) {H$‘mZ doVZ H$m¶Xm, 1948 Vnerbdma ñnï> H$am. [10]

qH$dm
gm‘m{OH$ gwajm Am{U gwajm Cnm¶m§er g§~§{YV H$m¶Úm§Mo Vnerbdma dU©Z H$am.

à.à.à.à.à.4) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]

A) H$m‘Jma H$m¶ÚmMm {dH$mg

~) ~moZg H$m¶Xm no‘|Q>

H$) H$m‘Jma H$m¶Xm

S>) H$m‘Jma amï´>r¶ gwajm H$m¶Xm





Total No. of Questions : 4]

[6146]-118
M.Com. (Part - I)

BUSINESS PRACTICES AND ENVIRONMENT
LO518MJ : Leadership and Organisational Behaviour
 (2023 Pattern)  (Credit System) (Semester - I) (60116)

Time : 2 Hours] [Max. Marks : 35
Instructions to the candidates:

1) All questions are compulsory.
2) Marks to right indicate full marks.

P8750 [Total No. of Pages : 4
SEAT No. :

Q1) Fill in the blanks. [5]
a) _______are the approaches to the study of leadership which emphasize

the personality of the leader.

i) Contingency theories

ii) Group theories

iii) Trait theories

iv) Inspirational theories

b) _______Needs is increasing Leadership rapidly.

i) Strategy ii) Command

iii) Control iv) Getting others to follow

c) _______used the terms “employee-centered” and “Production-centered”
to describe leader behaviour

i) Blake and McCanse ii) Fiedler

iii) McGregor iv) Likert

d) Organizational behaviour is________

i) A science ii) An art

iii) A science as well as an art iv) An Education

e) A study of the culture and practices in different societies is called______

i) Personality ii) Anthropology

iii) Perception iv) Attitudes
P.T.O.
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Q2) What is leadership? Explain various leadership theories. [10]

OR

What is organization behaviour? Explain the scope & goals of organization
behaviour.

Q3) What is Leadership Style? Explain various leadership Styles. [10]

OR

What is Personality? Explain various theories of Personality.

Q4) Write Short Notes (Any 2): [10]

a) Time Management

b) Work Culture

c) Attitudes

d) Motivation





3[6146]-118

Total No. of Questions : 4]

[6146]-118
M.Com. (Part - I)

BUSINESS PRACTICES AND ENVIRONMENT
LO518MJ : Leadership and Organisational Behaviour
 (2023 Pattern)  (Credit System) (Semester - I) (60116)

(‘amR>r ê$nm§Va)
doi : 2  Vmg] [ EHy$U JwU : 35

gyMZm …- 1) gd© àý gmoS>o{dUo Amdí¶H$ Amho.
2) COdrH$S>rb A§H$ JwU Xe©{dVmV.

P8750

à.à.à.à.à.1) [aH$må¶m OmJm ^am. [5]

A) ................ ho ZoV¥ËdmÀ¶m Aä¶mgmMo Ñ{ï>H$moZ AmhoV Oo ZoË¶mÀ¶m ì¶{º$‘Îdmda ^a XoVmV.

i) AmH$pñ‘H$ {gÕm§V ii) JQ> {gÕm§V

iii) d¡{eï²>¶ {gÕm§V iv) àoaUmXm¶r {gÕm§V

~) ................... ZoV¥ËdmMr JaO PnmQ²>¶mZo dmT>V Amho.

i) ì¶yhaMZm ii) Amkm

iii) {Z¶§ÌU iv) BVam§Mo AZwH$aU H$aUo

H$) ............... ¶m§Zr ZoË¶mÀ¶m dV©ZmMo dU©Z H$aÊ¶mgmR>r “H$‘©Mmar-H|${ÐV” Am{U “CËnmXZ-
H|${ÐV” ¶m g§km dmnaë¶m.

i) ãboH$ Am{U ‘°H$H°$Ýg ii) {’$S>ba

iii) ‘°H$J«oJa iv) {bH$Q>©

S>) .................  ho g§KQ>ZmË‘H$ dV©Z Amho.

i) EH$ {dkmZ ii) EH$ H$bm

iii) EH$ {dkmZ VgoM EH$ H$bm iv) {ejU

B>) {d{dY g‘mOmVrb g§ñH¥$Vr Am{U àWm ¶m§À¶m Aä¶mgmbm ................. åhUVmV.

i) ì¶{º$‘Ëd ii) ‘mZdd§eemó

iii) g‘O iv) d¥Îmr
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à.à.à.à.à.2) ZoV¥Ëd åhUOo H$m¶? ZoV¥ËdmMo {d{dY {gÕm§V ñnï> H$am. [10]

qH$dm
g§KQ>ZmË‘H$ dV©Z åhUOo H$m¶? g§KQ>ZmË‘H$ dV©ZmMr ì¶már Am{U C{Ôï>o ñnï> H$am.

à.à.à.à.à.3) ZoV¥Ëd e¡br H$m¶ Amho? ZoV¥ËdmÀ¶m {d{dY e¡br ñnï> H$am. [10]

qH$dm
ì¶{º$‘Ëd åhUOo H$m¶? ì¶{º$‘ÎdmMo {d{dY {gÕm§V ñnï> H$am.

à.à.à.à.à.4) {Q>nm {bhm. (H$moUVohr 2) [10]

A) doi ì¶dñWmnZ

~) H$m¶©g§ñH¥$Vr

H$) d¥Îmr

S>) A{^àoaUm





Total No. of Questions : 4]

[6146]-119
M.Com. (Part - I)

CO-OPERATION & RURAL DEVELOPMENT
RI515MJ : Rural Infrastructure

 (2023 Pattern) (Credit System) (Semester - I) (60113 )

Time : 2 Hours] [Max. Marks : 35
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P8751 [Total No. of Pages : 4
SEAT No. :

Q1) Fill up the blanks. [5]

a) Health infrastructure in India is based against:

i) The Rich ii) The poor

iii) Both iv) None of these

b) Which of the following is considered as non-conventional energy?

i) Solar energy ii) Wind energy

iii) Biomass iv) All of these

c) _______is the most important component of economic infrastructure

i) Hospital ii) Education

iii) Energy iv) All of these

d) Which of the following is not related to agricultural marketing?

i) Storage ii) Preservation

iii) Processing iv) Use of chemical fertilizers

e) Which of the following is expected to improve the marketing system?

i) Regulated  market

ii) Improvement of transportation

iii) Minimum support price

iv) All of these

P.T.O.
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Q2) What is the Rural Industries? Explain the Development of Rural Industries in
India since Independence. [10]

OR

What is weaker sections? Explain the various programs for weaker sections.[10]

Q3) What is mean by Planning? Explain Need and usefulness of Planning. [10]

OR

What is Public Participation? Write the Challenges of Public Participation.[10]

Q4) Write short notes (Any two) [10]

a) Supporting services to the agriculture.

b) The Changing role of Voluntary Agencies.

c) Rural Entrepreneurship and Infrastructure.

d) Health and Sanitation.


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Total No. of Questions : 4]

[6146]-119
M.Com. (Part - I)

CO-OPERATION & RURAL DEVELOPMENT
RI515MJ : Rural Infrastructure

 (2023 Pattern) (Credit System) (Semester - I) (60113 )

(‘amR>r ê$nm§Va)
doi : 2  Vmg] [ EHy$U JwU : 35

gyMZm …- 1) gd© àíZ A{Zdm¶© AmhoV.
2) COdrH$S>rb nyU© JwU Xe©dVmV.

P8751

à.à.à.à.à.1) [aH$må¶m OmJm ^am. [5]

A) ^maVmVrb Amamo½¶ nm¶m ŷV gw{dYm njnmVr AmhoV…

i) lr‘§V ii) Jar~

iii) XmoÝhr iv) ¶mn¡H$s H$mhrhr Zmhr

~) Imbrbn¡H$s H$moUVr D$Om© Anma§n[aH$ D$Om© ‘mZbr OmVo?

i) gm¡a COm© ii) ndZ D$Om©

iii) ~m¶mo‘mg iv) ¶m gd©

H$) ............... hm Am{W©H$ nm¶m ŷV gw{dYm§Mm gdm©V ‘hÎdmMm KQ>H$ Amho.

i) hm°pñnQ>b ii) {ejU

iii) D$Om© iv) ¶m gd©

S>) Imbrbn¡H$s H$moUVo H¥$fr {dnUZmer g§~§{YV Zmhr?

i) ñQ>moaoO ii) OVZ

iii) à{H«$¶m H$aV Amho iv) amgm¶{ZH$ IVm§Mm dmna

B>) Imbrbn¡H$s H$moUVr {dnUZ àUmbr gwYmaUo Ano{jV Amho?

i) {d{Z¶{‘V ~mOma ii) dmhVwH$sV gwYmaUm

iii) {H$‘mZ AmYma ŷV qH$‘V iv) ¶m gd©
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à.à.à.à.à.2) J«m‘rU CÚmoJ åhUOo H$m¶? ñdmV§Ì àmár Z§§VaÀ¶m ^maVmVrb J«m‘rU CÚmoJmMm {dH$mg g{dñVa ñnï>
H$am. [10]

qH$dm
Xþ~©b KQ>H$ åhUOo H$m¶? Xþ~©b KQ>H$m§Mo {d{dY H$m¶©H«$‘ ñnï> H$am. [10]

à.à.à.à.à.3) {Z¶moOZ åhUOo H$m¶? {Z¶moOZmMr JaO Am{U Cn¶mo{JVm ñnï> H$am. [10]

qH$dm
bmoH$gh^mJ åhUOo H$m¶? bmoH$gh^mJmMr AmìhmZo {bhm. [10]

à.à.à.à.à.4) {Q>nm {bhm (H$moUË¶mhr XmoZ) [10]

A) H¥$fr joÌmVrb ghmæ¶H$ godm

~) ñd¶§godr g§ñWm§Mr ~XbVr ŷ{‘H$m

H$) J«m‘rU CÚmoOH$Vm Am{U nm¶m ŷV gw{dYm

S>) Amamo½¶ Am{U ñdÀN>Vm





Total No. of Questions : 4]

[6146]-120
M.Com. - I

BANKING & FINANCE
UB524MJ : Universal Banking

(2023 Pattern) (Credit System) (Semester - I) (60122)

Time : 2 Hours] [Max. Marks : 35
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P8752 [Total No. of Pages : 4
SEAT No. :

Q1) Finll in the blanks [5]

a) When financial institutions and banks undertake activities related to bank-
ing like investment, issue of debit and credit card etc. Then it is known
as_________.

(Internet banking, Universal banking, Virtual Banking)

b) The most popular type of investment company is a________.

(Unit investment trust, Mutual fund, Real estate investment trust)

c) ________is one of the following statement is False regarding
transactions of Internet Banking.

(Transfer of Funds, Withdrawal of cash anywhere in India, Balance
inquiry)

d) Canara Bank is an example of________.

(Private Bank, Public Bank, Foreign Bank)

e) Banking sector falls under_____of the following sectors.

(Industrial sector, Service sector, Manufacturing sector)

P.T.O.
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Q2) Define Universal Banking. Explain the characteristics of Universal Banking.[10]

OR

Define Universal Banking. Explain the objective of Universal Banking.

Q3) Explain the advantages of Universal Banking. [10]

OR

Describe the problems faced by the Universal Banks.

Q4) Wrie short notes (Any Two) [10]

a) Functions of Universal Banks.

b) Recent Trends in Universal Banking in India.

c) Evolution of Universal Banking System in India.

d) Practices of Universal Banks.


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Total No. of Questions : 4]

[6146]-120
M.Com. - I

BANKING & FINANCE
UB524MJ : Universal Banking

(2023 Pattern) (Credit System) (Semester - I) (60122)
(‘amR>r ê$nm§Va)

doi : 2 Vmg] [ EHy$U JwU : 35

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.
2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

P8752

à.à.à.à.à.1) [aH$må¶m OmJm ^am. [5]

A) Oo§ìhm {dÎmr¶ g§ñWm Am{U ~±H$m ~±{H$Jer g§~§{YV {H«$¶mH$ën Ogo H$s Jw§VdUyH$, S>o{~Q> Am{U
Ho«${S>Q> H$mS>© Omar H$aUo BË¶mXr H$aVmV V§oìhm Ë¶mbm ................ åhUyZ AmoiIbo OmVo.

(B§Q>aZoQ> ~±qH$J, ¶w{Zìhg©b ~±qH$J, ìhÀ¶w©Ab ~±qH$J)

~) Jw§VdUyH$ H§$nZrMm gdm©V bmoH${à¶ àH$ma åhUOo ..................

(¶w{ZQ> BÝìhoñQ>‘|Q> Q´>ñQ>, å¶wÀ¶wAb ’§$S>, [aAb BñQ>oQ> BÝìhoñQ>‘|Q> Q´>ñQ>)

H$) ................... ho B§Q>aZoQ> ~±qH$JÀ¶m ì¶dhmam§~Ôb Imbrbn¡H$s EH$ {dYmZ ImoQ>o Amho.

({ZYrMo hñVm§VaU, ^maVmV Hw$R>ohr amoH$S> H$mT>Uo, {e„H$ Mm¡H$er)

S>) H°$Zam ~±H$ .................. ¶mMo CXmhaU Amho.

(ImOJr ~±H$, npãbH$ ~±H$, naXoer ~±H$)

B) ~±qH$J joÌ Imbrbn¡H$s ................. joÌm§VJ©V ¶oVo.

(Am¡Úmo{JH$ joÌ, godm joÌ, CËnmXZ joÌ)
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à.à.à.à.à.2) gmd©{ÌH$ ~±qH$JMr ì¶m»¶m H$am. gmd©{ÌH$ ~±qH$JMr d¡{eï²>¶o ñnï> H$am. [10]

qH$dm
gmd©{ÌH$ ~±qH$JMr ì¶m»¶m H$am. gmd©{ÌH$ ~±qH$JMr C{Ôï>o ñnï> H$am.

à.à.à.à.à.3)gmd©{ÌH$ ~±qH$JMo ’$m¶Xo ñnï> H$am. [10]

qH$dm
gmd©{ÌH$ ~±H$m§Zm ôS>gmdUmè¶m g‘ñ¶m§Mo dU©Z H$am.

à.à.à.à.à.4) {Q>nm {bhm. (H$moUVrhr 2) [10]

A) gmd©{ÌH$ ~±qH$JMr H$m¶}

~) ^maVmVrb gmd©{ÌH$ ~±qH$J‘Yrb Z{dZ àdmh

H$) ^maVmVrb gmd©{ÌH$ ~±{H$J àUmbrMr CËH«$m§Vr

S>) ¶w{Zìhg©b ~±H$m§À¶m H$m¶©nÕVr


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Total No. of Questions : 6]

[6146]-121
First Year M.Com.

ADVANCED ACCOUNTING & TAXATION
AA507MJ : Advanced Accounting

(2023 Pattern)  (Credit System) (Semester - I) (60105)
Time : 3 Hours] [Max. Marks : 70
Instructions to the candidates:

1) Question No. 1 and 6 are compulsory.
2) Attempt any three questions from Question No. 2 to 5.
3) Figure to the right indicate full marks.
4) Use of simple pocket calculator is allowed.

P8753 [Total No. of Pages : 6
SEAT No. :

Q1) Fill in the Blanks. [6]

a)  An __________ is a system that a business uses to collect, store, manage,
process, retrieve, and report its financial data.

i) Price level changes system

ii) Accounting information system (AIS)

iii) Data Collection System

b) The time period assumption or the __________ assumption assumes
business activities can be divided into time periods.

i) Periodicity

ii) Monetary

iii) Matching

c) Price level changes is a system of accounting ascertains profit or loss
and presents financial position of the business on the basis of _________.

i) Cost Prices

ii) Historical Prices

iii) Current Prices
P.T.O.
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d) Branch keeping the full system of accounting is also known as _________.
i) Independent branch
ii) Dependent branch
iii) Foreign branch

e) Full form of IFRS is ________________.
i) Indian Financial Reporting Standards
ii) International Forensic Reports Standards
iii) International Financial Reporting Standards

f) ________ subsidiary company is where Majority of the shares are held
by holding company
i) Partly owned
ii) Fully owned
iii) Acquiring

Q2) What is the IFRS? Explain the Structure and Scope of IFRS. [18]

Q3) Following are the balance sheets and profit and loss account of Ganesh & Co.
[18]

Balance Sheet as on 31st March, 2022

Liabilities Rs. Assets Rs.
Share Capital 10,00,000 Plant & Machinery 6,00,000
Profit & Loss A/C 1,50,000 Motor car 1,20,000
Trade creditors 2,70,000 Closing stock 3,00,000

Sundry debtors 2,00,000
Cash in hand 2,00,000

14,20,000 14,20,000
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Balance Sheet as on 31st March, 2023

Liabilities Rs. Assets Rs.
Share Capital 10,00,000 Plant & Machinery  6,00,000

Less - Dep. 60,000 5,40,000
Profit & Loss A/C 3,50,000 Motor car 1,20,000

Less - Dep. 12,000 1,08,000
Trade creditors 70,000 Closing stock 2,40,000

Sundry debtors 3,00,000
Cash in hand 2,32,000

14,20,000 14,20,000

Profit & Loss Account
for the year ended 31st March, 2023

Particulars Rs. Particulars Rs.
To Opening Stock 3,00,000 By Sales 24,00,000
To Purchases 17,40,000 By Closing stock 2,40,000
To Depreciation 72,000
To Other expenses 3,28,000
To Net Profit c/d 2,00,000

26,40,000 26,40,000

Other Information :
1) Replacement cost on 3lst March, 2023 : Inventory Rs. 3,00,000, Plant &

Machinery Rs. 6,60,000, Motor Car Rs. 1,00,000.
2) The replacement cost of goods sold on the dates the sale were done

worth Rs. 20,00,000.
Prepare Restatement of  Profit & Loss for the year ended 3lst March,
2023and Balance Sheet as on that date under Current Purchasing Power
(CPP) Method.
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Q4) X Ltd. is a holding company and Y Ltd. and Z Ltd. are subsidiaries of X Ltd.
Their Balance Sheets as on 31st March 2023 are given below. [18]

Balance Sheets as on 31st March 2023

Liabilities X Ltd. Y Ltd. Z Ltd. Assets X Ltd. Y Ltd. Z Ltd.
Rs.  Rs. Rs. Rs. Rs.  Rs.

Shares Fixed
Capital 2,00,000  2,00,000 1,20,000 Assets 40,000 1,20,000 86,000
Reserves 96,000 20,000 18,000 Investments -

Shares in
Y Ltd. 1,90,000 -
Shares in
Z Ltd. 26,000 1,06,000 -

Profits & Stock
Loss A/C 32,000 24,000 18,000 in Trade 24,000 - -
Z Ltd. Y Ltd.
Balance 6,000 - - Balance 16,000 - -
Sundry Sundry
Creditors 14,000 10,000 - Debtors 52,000 42,000 64,000
X Ltd. X Ltd.
Balance - 14,000 - Balance - - 6,000

3,48,000 2,68,000 1,56,000 3,48,000 2,68,000 1,56,000

The following particulars are given
a) The Share capital of all companies is divided into shares of  Rs. 10 each.
b) X Ltd. held 16,000 shares of  Y Ltd. and 2,000 Shares of Z Ltd.
c) Y Ltd. held 8,000 shares of Z Ltd.
d) All these investments were made on 30th September 2022.
e) On 1st April 2022 the position was shown below:

.
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Particulars Y Ltd. Z Ltd.

Rs. Rs.

Reserves 16,000 15,000

Profit and Loss A/c 8,000 6,000

Creditors 10,000 2,000

Fixed Assets 1,20,000 86,000

Stock in Trade 8,000 71,000

Sundry Debtors 96,000 66,000

You are required to prepare consolidated balance sheet of the group as on 31st

March 2023.

Q5) Following was the Trial Balance on 31st March 2023 of Delhi branch of a
foreign firm having Head office in New York. [18]

Particulars Rs. Rs.

Stock on 1.4.2022 12,600 -

Purchases & Sales 75,000 1,12,500

Debtors & Creditors 39,000 26,000

Bills Receivable & Bills Payable 10,400 9,100

Salaries & Wages 4,800 -

Rent, Rates and Taxes 5,100 -

Furniture 4,910 -

Cash at bank 28,990 -

New York Account - 33,200

1,80,800 1,80,800
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Additional Information:

a) On 3lst March 2023 the stock was valued at Rs. 32,500.

b) The debit balance of the branch account in New York books on 31st

March 2023 was $ 2,280 and furniture account appeared at $ 350.

c) The rate of exchange on:

31st March 2022 - Rs. 14

31st March 2023 - Rs. 13

Average rate - Rs.12

Prepare the Branch Trading and Profit and Loss Account and Balance
Sheet in the Head Office book.

Q6) Write Short Note. (Any 2). [10]

a) Classification of Branches

b) Inflation Accounting

c) Capital Profits & Revenue Profits

d) Professional Development of Accounting in India





Q1) Fill in the blanks : [6]
i) __________ refers to the process of buying goods and services.

a) Business b) Employment
c) Trade d) Commerce

ii) A large component of a business environment includes ______ for the
future.
a) planning b) carelessness
c) ignorance d) neglect

iii) World Trade Organisation came into force on ______.
a) 27 July 2007 b) 1 January 1995
c) 15 September 1993 d) 1 January 1947

iv) The foreign direct investment includes ________
a) Intellectual properties b) Human resources
c) Tangible goods d) Intangible goods

v) _______ pollutants include bacteria, viruses, parasites, fertilizers etc.
a) Water b) Noise
c) Air d) Soil

vi) ______ acts as a guide in decision making process.
a) Policy b) Procedure
c) Strategy d) Governance

Total No. of Questions : 4]
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Q2) What is ‘Business’? Explain in detail the Nature and Scope of ‘Business’.[20]

OR

What is ‘Multinational Companies’? Explain the Merits and Demerits of
‘Multinational Companies’

Q3) What is ‘Environment Management’? Explain the various Needs and Types
of ‘Environment Management’. [20]

OR

What is ‘Business Policy’? Explain various Features and Nature of ‘Business
Policy’.

Q4) Write Short Notes (Any Four) : [24]

a) Types of Business Environment

b) Scope of Business Environment

c) Foreign Direct Investment

d) Types of Pollution

e) Pollution Control Board

f) Difference between Policy and Procedures


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àíZ àíZ àíZ àíZ àíZ 1) [aH$må`m OmJm ^am. [6]
i) ................ åhUOo dñVy Am{U godm IaoXr H$aÊ`mÀ`m à{H«$ òMm g§X ©̂ XoVo.

A) ì`dgm` ~) amoOJma
H$) ì`mnma S>) dm{UÁ`

ii) ì`mdgm{`H$ n`m©daUmÀ`m _moR²>`m KQ>H$m_Ü ò ̂ {dî`mgmR>r ........ g_m{dï> AgVo.
A) {Z`moOZ ~) {ZîH$miOrnUm
H$) AkmZ S>) Xþb©j

iii) OmJ{VH$ ì`mnma g§KQ>Zm ......... amoOr ApñVËdmV Ambr.
A) 27 Owb¡ 2007 ~) 1 OmZodmar 1995
H$) 15 gßQ>|~a 1993 S>) 1 OmZodmar 1947

iv) WoQ> {dXoer Jw§VdUwH$sV ......... dñVy§Mm g_mdoe hmoVmo.
A) ~m¡{ÕH$ JwUY_© ~) _mZdr g§gmYZo
H$) Ñí` dñVy S>) AÑí` dñVy

v) ......... àXÿfH$m§_Ü ò OrdmUy, {dfmUy, naOrdr, IVo B. g_mdoe hmoVmo.

A) Ob ~) ÜdZr

H$) hdm S>) _mVr

vi) ............ {ZU©̀  à{H«$ òV _mJ©Xe©H$ åhUyZ H$m_ H$aVo.

A) YmoaU ~) à{H«$`m

H$) ì ỳhaMZm S>) emgZ
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àíZ àíZ àíZ àíZ àíZ 2) "ì`dgm`' åhUOo H$m`? ì`dgm`mMo ñdê$n Am{U ì`már g{dñVa ñnï> H$am. [20]

qH$dm

"~hþamï´>r` H§$nÝ`m' åhUOo H$m`? "~hþamï´>r` H§$nÝ`m§Mo' \$m`Xo Am{U VmoQ>o ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 3) "n`m©daU ì`dñWmnZ' åhUOo H$m`? "n`m©daU ì`dñWmnZ' À`m {d{dY JaOm Am{U àH$ma ñnï>
H$am. [20]

qH$dm

"ì`dgm` YmoaU' åhUOo H$m`? "ì`dgm` YmoaU' Mr {d{dY d¡{eï²> ò Am{U ñdê$n ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 4) {Q>nm {bhm (H$moUË`mhr Mma) … [24]

A) ì`dgm` n`m©daUmMo àH$ma

~) ì`dgm` n`m©daUmMr ì`már

H$) WoQ> naH$s` Jw§VdUyH$

S>) àXÿfUmMo àH$ma

B) àXÿfU {Z`§ÌU _§S>i

\$) YmoaU Am{U H$m ©̀nÕVr `mVrb \$aH$





Q1) Fill in the blank with the most appropriate alternative : [6]

i) Under Budgeting, the ________ governs the quantity to be made or
sold)

a) Sales Factor b) Discount Factor

c) Limiting Factor d) Cost Factor

ii) __________ is the technique of setting predetermined cost estimates
that become a basis for comparison.

a) Standard Costing b) Contract Costing

c) Budgetary Control d) Variance Analysis

iii) The process of comparing and evaluating different companies in relation
to one another is called as_______

a) Intra Firm Comparison b) Inter Firm Comparison

c) Financial Comparison d) Taxation Comparison

iv) The term used for measuring the amount of output received per unit of
input introduced is ______________

a) Profitability b) Productivity

c) Proficiency d) Profit

Total No. of Questions : 6]
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v) _____________ is an identified centre that is accountable to achieve
the desired profitability in an organization.

a) Responsibility Centre b) Revenue Centre

c) Cost Centre d) Investment Centre

vi) Under Responsibility Accounting, Marketing Manager of a product
line is an example of a __________

a) Profit Centre b) Investment Centre

c) Cost Centre d) Revenue Centre

Q2) What is Uniform Costing? Explain the Advantages and Disadvantages of
Uniform Costing. [18]

Q3) From the following information of Sairam Ltd) Nashik, Prepare a Cash
Budget for the months of May, June and July, 2023: [18]

a) Income and Expenditure forecasts are :

Month Credit Purchases Wages Manufacturing Office

Sales Expenses Expenses

` ` ` ` `

Apr.2023 65,000 25,000 4,000 3,000 1,000

May 2023 67,000 26,000 3,000 2,000 1,500

June 2023 68,000 24,000 4,000 3,000 2,000

July2023 66,000 23,000  3,500 2,500 1,500

Aug. 2023 64,000 24,000 4,500 3,500 1,000

The creditors will be paid in the month following the purchases. Sales will
be realized: 50% in the month following the month of Sales and 50% in the
second month. Manufacturing expenses are paid in the same month whereas
the Lag in the payment of Office Expenses is one month.

The Cash balances on 1st May 2023 is ` 4,000. Wages were paid in the
same month. Advance tax of ` 3,000, is due for the month of July 2023.
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Q4) The standard Material Cost for 200 Kg of Chemical ‘P’ produced by mixing
three chemicals is : [18]

Chemical ‘L’- 60 Kg @ ` 4 per kg

Chemical ‘M’- 80 Kg @ ` 5 per kg

Chemical ‘N’- 160 Kg @ ` 6 per kg.

In a batch, 1,000 kg of Chemical ‘P’ is produced from a mix of:

Chemical ‘L’- 280 Kg @ cost of ` 1,260

Chemical ‘M’- 440 Kg @ cost of ` 2,200

Chemical ‘N’- 880 Kg @ cost of ` 5,720

Calculate :

a) Material Cost Variance

b) Material Price Variance

c) Material Usage Variance

d) Material Mix Variance

Q5) Mahalaxmi Sugar mill, Kolhapur provides following standard information
regarding labour cost for manufacturing 500 tons of Sugar : [18]

Type of Labour Particulars

Women 40 hours @ ` 15 per Hour

Men 60 hours@ ` 10 per Hour

The actual cost data for producing 500 tons of sugar is :

Type of Labour Particulars

Women 60 hours @ ` 17 per Hour

Men 60 hours@ ` 10 per Hour

Calculate :

a) Labour Cost Variance

b) Labour Rate Variance

c) Labour Efficiency Variance

d) Labour Mix Variance.
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Q6) Short Notes (Any two) : [10]

a) Limitations of Budgets

b) Importance of Standard Costing

c) Causes of Low Productivity

d) Benefits of Responsibility Accounting.





Q1) Fill in the blanks by selecting suitable choice : [6]
i) __________ is the regulatory body which regulates the working of all

Banks in India.
a) SEBI b) IRDA
c) RBI d) PFRDA

ii) Cash flow statement, Fund flow statement, Income Statement & Balance
sheet can all be termed as __________.
a) Financial Statements b) Financial Tools
c) Financial Techniques d) Financial System

iii) The difference between all current Assets and all current liabilities is
termed as __________.
a) Gross Working Capital b) Net Working Capital
c) Gross Permanent Capital d) Net Permanent Capital

iv) In a lease agreement __________ is the owner of the Assets.
a) Lessor b) Lessee
c) Bankers d) Factor

v) __________ helps us to ascertain the financial position of an individual
or a firm on a given date.
a) Income statement b) Fund flow statement
c) Cash flow statement d) Balance Sheet

vi) __________ involves the selling of all accounts receivable to an outside
agency.
a) Leasing b) Factoring
c) Lending d) Borrowing

Total No. of Questions : 4]

[Total No. of Pages : 8

[6146]-124
M.Com. - I

FM-522 MJ : FINANCIAL MANAGEMENT
(2023 Pattern) (Semester - I) (60120)

Time : 3 Hours] [Max. Marks : 70
Instructions to the candidates :

1) All questions are compulsory.
2) Figures to the right side indicate full marks.
3) Use of simple calculator is allowed.

P-8756

SEAT No. :

P.T.O.



[6146]-124 2

Q2) a) What is Working Capital? Explain the nature of working Capital.[10]

b) Explain the role of RBI as a regulator of Indian Financial System.[10]

OR

Find Gross Working Capital and Net Working Capital from the given
information. [20]

i) Direct Material per Unit - Rs. 50

ii) Direct Labor per unit - Rs. 40

iii) Direct overheads per unit - Rs. 30

iv) Total units produced and sold per annum - 96000

v) Stock of Raw Material to be maintained for 1 Month

vi) Stock of Work in Progress to be maintained for 1.5 Months

vii) Stock of Finished Goods to be maintained for 2 Months

viii) Credit offered to customers - 2 Months

ix) Credit offered by suppliers - 1 Month

x) Cash and Bank balance to be maintained - 110000

xi) Advance tax to be paid Rs. 30000

xii) 50 % sales is on cash basis and 40 % purchases are on cash basis

xiii) Lag in payment of Direct Wages - 1 Month

xiv) Lag in payment of Direct Expenses - 2 Months

xv) Add 10 % as contingency on the Net Working Capital

Q3) a) What are Financial Statements? Explain the nature of Financial
Statements. [10]

b) Explain in detail various concepts of financial statements. [10]

OR

Prepare a comparative statement from the following balance sheets of
IRCTC for the year ended March, 2022 and March, 2023. [20]
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Balance Sheets of IRCTC (Figure in crores)

Liabilities Mar-22 Mar-23

Equity Share Capital 160 160

Reserves 1,710 2,318

Borrowings (Long Term) 105 84

Trade Payables 691 852

Other liability items 1,218 1,674

Total Liabilities 3,884 5,088

Assets

Fixed Assets -

Land & Building 229 276

Plant & Machinery 102 110

Equipments 15 16

Computers 102 110

Furniture & Fittings 17 17

Vehicles 113 119

Intangible Assets 42 42

Gross Block 621 689

Less : Accumulated Depreciation 285 338

Total Fixed Assets (Net Block) 336 351

CWIP 26 34

Current Assets

Inventories 8 10

Trade receivables 572 1,143

Cash Equivalents 1,732 1,934

Other asset items 1,210 1,616

Total Assets 3,884 5,088

Q4) Solve any four from the following : [4 × 6 = 24]

a) Write a note on - Dual aspect concept and Money Measurement concept

b) Write a note on - Scope of Financial Management

c) Write a note on - Sources of working Capital

d) Write a note on - IRR method
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e) Aarti Enterprises has two investment project alternatives before them.
Estimated Cash flow after tax from both the projects is as follows. You
are requested to suggest a better investment opportunity based on Pay
Back Period Method.

CFAT Project A Project B

Particulars Period Amount Period Amount

Initial investment 0 12,00,000 0 10,00,000

Cash inflows 1 6,00,000 1 3,00,000

Cash inflows 2 5,00,000 2 4,00,000

Cash inflows 3 4,00,000 3 12,00,000

Cash inflows 4 3,00,000 4 4,00,000

Cash inflows 5 2,00,000 5 5,00,000

Cash inflows 6 1,00,000 6 2,00,000

f) XYZ Enterprises has two investment project alternatives before them.
Estimated Cash flow after tax from both the projects is as follows. You
are requested to suggest a better investment opportunity based on
Profitability Index Method.

CFAT Project A Project B

Particulars Period Amount Period Amount PV Factor

Initial investment 0 12,00,000 0 10,00,000 1

Cash inflows 1 6,00,000 1 3,00,000 0.91

Cash inflows 2 5,00,000 2 4,00,000 0.83

Cash inflows 3 4,00,000 3 12,00,000 0.75

Cash inflows 4 3,00,000 4 4,00,000 0.68

Cash inflows 5 2,00,000 5 5,00,000 0.62

Cash inflows 6 1,00,000 6 2,00,000 0.56


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3) gmYo H°$ëŠ ẁboQ>a dmnaÊ`mg nadmZJr Amho.

P-8756

P.T.O.

àíZ àíZ àíZ àíZ àíZ 1) `mo½` n`m©̀ mMr {ZdS> H$ê$Z [aH$må`m OmJm ^am. [6]
i) ................ hr {Z`m_H$ g§ñWm Amho Or ^maVmVrb gd© ~±H$m§À`m H$m_H$mOmMo {Z`_Z

H$aVo.
A) SEBI ~) IRDA
H$) RBI S>) PFRDA

ii) H°$e âbmo ñQ>oQ>_|Q>, \§$S> âbmo ñQ>oQ>_|Q>, BÝH$_ ñQ>oQ>_|Q> Am{U ~°bÝgerQ> ̀ m§Zm ................
Ago åhQ>bo OmVo.
A) Am{W©H$ {ddaUnÌ ~) Am{W©H$ gmYZo
H$) Am{W©H$ V§Ì S>) Am{W©H$ àUmbr

iii) gd© Mmby _mb_Îmm Am{U gd© Mmby Xm{`Ëdm§_Yrb \$aH$mbm ................ Ago åhUVmV.
A) T>mo~b IoiVo ^m§S>db ~) {Zìdi IoiVo ̂ m§S>db
H$) T>mo~i ñWm`r ^m§S>db S>) {Zìdi ñWm`r ^m§S>db

iv) brO H$amam_Ü ò ................ _mb_ÎmoMm _mbH$ AgVmo.
A) boga ~) boñgr
H$) ~±H$g© S>) \°$ŠQ>a

v) ................ {Xboë`m VmaIobm EImÚm \$_©Mr/ì`º$sMr Am{W©H$ pñWVr VnmgÊ`mV
_XV hmoVo.
A) CËnÞ {ddaU ~) {ZYr àdmh {ddaU
H$) amoI àdmh {ddaU S>) Vmio~§X

vi) ImË`mdarb òUoa¸$_ ~mhoarb EOÝgrbm {dH$Ê`mbm ................ åhUVmV.
A) brqOJ ~) \°$ŠQ>[a¨J
H$) H$O© XoUo S>) H$O© KoUo
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àíZ àíZ àíZ àíZ àíZ 2) A) IoiVo ^m§S>db åhUOo H$m`? IoiVo ^m§S>dbmMo ñdê$n ñnï> H$am. [10]

~) ^maVr` {dÎmr` ì`dñWoMo {Z`m_H$ åhUyZ RBI Mr ŷ{_H$m ñnï> H$am. [10]

qH$dm

Find Gross Working Capital and Net Working Capital from the
given information. [20]

i) Direct Material per Unit - Rs. 50

ii) Direct Labor per unit - Rs. 40

iii) Direct overheads per unit - Rs. 30

iv) Total units produced and sold per annum - 96000

v) Stock of Raw Material to be maintained for 1 Month

vi) Stock of Work in Progress to be maintained for 1.5 Months

vii) Stock of Finished Goods to be maintained for 2 Months

viii) Credit offered to customers - 2 Months

ix) Credit offered by suppliers - 1 Month

x) Cash and Bank balance to be maintained - 110000

xi) Advance tax to be paid Rs. 30000

xii) 50 % sales is on cash basis and 40 % purchases are on cash
basis

xiii) Lag in payment of Direct Wages - 1 Month

xiv) Lag in payment of Direct Expenses - 2 Months

xv) Add 10 % as contingency on the Net Working Capital

àíZ àíZ àíZ àíZ àíZ 3) A) Am{W©H$ {ddaUnÌ åhUOo H$m`? Am{W©H$ {ddaUnÌmMo ñdê$n ñnï> H$am. [10]

~) Am{W©H$ {ddaUnÌmÀ`m {d{dY g§H$ënZm g{dñVa ñnï> H$am. [10]

qH$dm

Prepare a comparative statement from the following balance sheets
of IRCTC for the year ended March, 2022 and March, 2023.[20]
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Balance Sheets of IRCTC (Figure in crores)

Liabilities Mar-22 Mar-23

Equity Share Capital 160 160

Reserves 1,710 2,318

Borrowings (Long Term) 105 84

Trade Payables 691 852

Other liability items 1,218 1,674

Total Liabilities 3,884 5,088

Assets

Fixed Assets -

Land & Building 229 276

Plant & Machinery 102 110

Equipments 15 16

Computers 102 110

Furniture & Fittings 17 17

Vehicles 113 119

Intangible Assets 42 42

Gross Block 621 689

Less : Accumulated Depreciation 285 338

Total Fixed Assets (Net Block) 336 351

CWIP 26 34

Current Assets

Inventories 8 10

Trade receivables 572 1,143

Cash Equivalents 1,732 1,934

Other asset items 1,210 1,616

Total Assets 3,884 5,088

àíZ àíZ àíZ àíZ àíZ 4) H$moUVohr Mma gmoS>dm. [4 × 6 = 24]

A) Xþ~oaOr g§H$ënZm Am{U n¡gm _moO_mn g§H$ënZm `mda Q>rn {bhm.

~) Am{W©H$ ì`dñWmnZmÀ`m ì`márda Q>rn {bhm.

H$) IoiË`m ^m§S>dbmÀ`m ómoVm§da Q>rn {bhm.

S>) IRR nÕVrda Q>rn {bhm.
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e) Aarti Enterprises has two investment project alternatives before them.
Estimated Cash flow after tax from both the projects is as follows. You
are requested to suggest a better investment opportunity based on Pay
Back Period Method.

CFAT Project A Project B

Particulars Period Amount Period Amount

Initial investment 0 12,00,000 0 10,00,000

Cash inflows 1 6,00,000 1 3,00,000

Cash inflows 2 5,00,000 2 4,00,000

Cash inflows 3 4,00,000 3 12,00,000

Cash inflows 4 3,00,000 4 4,00,000

Cash inflows 5 2,00,000 5 5,00,000

Cash inflows 6 1,00,000 6 2,00,000

f) XYZ Enterprises has two investment project alternatives before them.
Estimated Cash flow after tax from both the projects is as follows. You
are requested to suggest a better investment opportunity based on
Profitability Index Method.

CFAT Project A Project B

Particulars Period Amount Period Amount PV Factor

Initial investment 0 12,00,000 0 10,00,000 1

Cash inflows 1 6,00,000 1 3,00,000 0.91

Cash inflows 2 5,00,000 2 4,00,000 0.83

Cash inflows 3 4,00,000 3 12,00,000 0.75

Cash inflows 4 3,00,000 4 4,00,000 0.68

Cash inflows 5 2,00,000 5 5,00,000 0.62

Cash inflows 6 1,00,000 6 2,00,000 0.56





Q1) Fill in the Blanks by Selecting suitable choice (Any Six) : [6]
i) The Agreement on Trade-Related Aspects of Intellectual Property Rights

came into effect from ________
a) 1995 b) 2000
c) 2005

ii) The Paris Convention is deals with ______.
a) Protection of Industrial Property
b) Sustainable Development
c) Global Warming

iii) Opposition of Trade Mark is __________.
a) Objections raised by the Registrar of Trade Marks
b) Objections raised by a third party
c) Objections raised for non-payment of fees

iv) _________ protects the intellectual property created by artists.
a) Copyright b) Geographical indications
c) Patents

v) SDG India Index is launched by __________.
a) NITI Aayog b) Reserve Bank of India
c) SEBI

vi) _________ is not the duty of Competition Commission:
a) To protect the interests of investors:
b) To ensure freedom of trade carried on by other participants in

markets in India and - for matters connected therewith or incidental
thereto:

c) To prevent practices having adverse effect on competition;
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vii) The trademark protects __________.
a) An invention b) A work of art
c) Logos, names and brands

viii) A Company Wishes to ensure that no one else can use their logo _____.
a) Copy Rights
b) Trade Mark
c) Patent

Q2) State the Genesis and Development of Intellectual Property Rights in India.
And Explain in detail evaluation of TRIPS Agreement. [20]

OR
Explain the Objectives of Patent Laws. State the Rights and Duties of Patentee?
Discuss the various reliefs available against Infringement of Patent?

Q3) What do you mean by Copyrights? Explain the nature of Copyrights and
procedure for Registration of Copy Right? [20]

OR
Examine the Concept of Trade Marks. State the different kinds of Trade
Marks and Explain what constitutes Trademark infringement.

Q4) Write Short Notes (Any Two) : [24]

a) IPR and Sustainable Development
b) Trade Marks Registry and Appellate Board
c) Patent Office and Appellate Board
d) TRIPS Agreement


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àíZ àíZ àíZ àíZ àíZ 1) `mo½` n`m©̀  {ZdSy>Z [aŠV OmJm ^am. (H$moUVohr ghm) [6]

i) ~m¡{ÕH$ g§nXm A{YH$mam§À`m ì`mnma-g§~§{YV n¡by§darb H$ama ........... nmgyZ A§_bmV
Ambm.

A) 1995 ~) 2000

H$) 2005

ii) n°[ag A{YdoeZ .............. er g§~§{YV Amho.

A) Am¡Úmo{JH$ _mb_ÎmoMo g§ajU ~) emœV {dH$mg

H$) OmJ{VH$ Vmn_mZdmT>

iii) Q´>oS> _mH©$Mm {damoY ................ Amho.

A) Q´>oS>_mH©$ a{OñQ´>maZo KoVbobo Amjon

~) Ì`ñW njmZo KoVbobo Amjon

H$) \$s Z ^aë`m~Ôb Amjon

iv) ............. ho H$bmH$mam§Zr V`ma Ho$boë`m ~m¡{ÕH$ g§nÎmrMo g§ajU H$aVo.

A) H$m°nramBQ> ~) ^m¡Jmo{bH$ g§Ho$V

H$) noQ>§Q>

v) SDG B§{S>`m B§S>oŠg ............... Zo Omar Ho$bm.

A) ZrVr Am`moJ ~) [aPìh© ~±H$ Am°\$ B§{S>`m

H$) go~r
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vi) .......... ho ñnYm© Am`moJmMo H$m ©̀ Zmhr.

A) Jw§VdUyH$Xmam§À`m {hVmMo ajU H$aUo

~) ^maVmVrb ~mOmanoR>oVrb BVa gh^mJtÛmao ì`mnmamMo ñdmV§Í` gw{Z{üV H$aUo Am{U
Ë`m§À`mer g§~§{YV qH$dm AZwf§{JH$ ~m~t

H$) ñnY}da à{VHy$b n[aUm_ H$aUmè`m nÕVtZm à{V~§Y H$aUo

vii) Q´>oS>_mH©$ ............... Mo g§ajU H$aVmo.

A) emoY ~) H$bmH¥$Vr

H$) bmoJmo, Zmdo Am{U ~«±S>

viii) H§$nZr BVa H$moUrhr Ë`m§Mm bmoJmo ................ dmnê$ eH$V Zmhr ho gw{Z{üV H$aÊ`mMr
BÀN>m H$aVo.

A) H$m°nr amBQ²>g ~) Q´>oS> _mH©$

H$) noQ>§Q>

àíZ àíZ àíZ àíZ àíZ 2) ^maVmVrb ~m¡{ÕH$ g§nXm A{YH$mam§Mr CËnÎmr Am{U {dH$mg gm§Jm. Am{U {Q´>n (TRIP) H$amamMo
Vnerbdma _yë`m§H$Z H$am. [20]

qH$dm

noQ>§Q> H$m`ÚmMr C{Ôï>o ñnï> H$am. noQ>§Q>rMo A{YH$ma Am{U H$V©ì`o H$moUVr AmhoV? noQ>§Q>À`m
Cëb§KZm{dê$Õ CnbãY Agboë`m {d{dY gdbVtda MMm© H$am.

àíZ àíZ àíZ àíZ àíZ 3) H$m°nramBQ²>g åhUOo H$m`? H$m°nramBQ>Mo ñdê$n Am{U H$m°nramBQ>À`m Zm|XUrMr à{H«$`m ñnï> H$am.
[20]

qH$dm

Q´>oS> _mŠg©À`m g§H$ënZoMo narjU H$am. Q´>oS>_mH©$Mo {d{dY àH$ma gm§JyZ Q´>oS>_mH©$Mo Cëb§KZ åhUOo
H$m` Vo gm§Jm?

àíZ àíZ àíZ àíZ àíZ 4) WmoS>Š`mV {Q>nm {bhm. (H$moUË`mhr XmoZ) [24]

A) Am`nrAma Am{U emœV {dH$mg

~) Q´>oS> _mŠg© a{OñQ´>r Am{U AnrboQ> ~moS>©

H$) noQ>§Q> Am°{\$g Am{U AnrboQ> ~moS>©

S>) {Q´>ßg H$ama





Q1) Fill in the blank with the most appropriate alternative. [6]
i) Advances against their own shares are not allowed by banks because

these are prohibited under____________.
a) Banking Regulation act 1949 b) SEBI Act 1992
c) RBI Act 1935

ii) RBI can carry out inspection of any bank under section _________of
Banking Regulation Act.
a) Section 35 b) Section 36
c) Section 38

iii) The Negotiable Instruments Act, ______ deals with the Bill of Exchange.
a) Section 8 b) Section 5
c) Section 3

iv) _______of the following section of Negotiable Instrument Act, 1881
describes about "Endorsements".
a) Section 28 b) Section 15
c) Section 13

v) ______issues currency notes in India.
a) State Bank of India b) Bank of India
c) Reserve Bank of India

vi) ________ is responsible for fixing Repo or Reverse Repo Rate.
a) Ministry of Finance
b) Comptroller and Auditor General of India
c) RBI

Total No. of Questions : 4]

[Total No. of Pages : 4

[6146]-126
M.Com. (Part-I)

LF525MJ : LEGAL FRAMEWORK OF BANKING
(NEP 2023 Pattern) (CBCS) (Semester - I)

Time : 3 Hours] [Max. Marks : 70
Instructions to the candidates:

1) All Questions are compulsory.
2) Figures to the right indicate full marks.

P-8758
SEAT No. :

P.T.O.



[6146]-126 2

Q2) Explain the restrictions on business of banking companies under Section 8,
Section 19 and section 20 of the Banking Regulation Act. 1949. [20]

OR
Explain the penalties in case of dishonour of cheques for insufficiency of
funds in the account under section 138 to 147 of Negotiable Instrument Act
1881.

Q3) Explain the provisions of Reserve Bank of India Act 1934 under section 3 to
19 relating to incorporation, capital management and business. [20]

OR
Write various provisions regarding reconstruction of financial assets and
financial institution under section 3 to 12A Securitisation Act. 2002.

Q4) Write short notes (Any Four) [24]
a) Banking Regulation (Amendment) Bill 2017
b) Promissory note
c) Functions of RBI
d) Central Registry.
e) Capital Structure (section 12)
f) Types of Endorsements


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àíZ 1) [aH$må¶m OmJm ^am. [6]
i) ............. A§VJ©V Ë¶m§Zm ~§Xr Agë¶mZo ~±H$m§Zr ñdV:À¶m eoAg©da A°S>ìhmÝg H$aÊ¶mg

nadmZJr {Xbobr Zmhr.
A) ~±qH$J {Z¶‘Z H$m¶Xm 1949 ~) go~r H$m¶Xm 1992
H$) Ama~rAm¶ H$m¶Xm 1935

ii) Ama~rAm¶ ~±qH$J {Z¶‘Z H$m¶ÚmÀ¶m H$b‘ .......... A§VJ©V H$moUË¶mhr ~±Ho$Mr VnmgUr
H$ê$ eH$Vo.
A) H$b‘ 35 ~) H$b‘ 36
H$) H$b‘ 38

iii) MbZj‘ XñVEodO H$m¶Xm,  .......... ho {~b Am°’$ E³ñM|Oer g§~§{YV Amho.
A) H$b‘ 8 ~) H$b‘ 5
H$) H$b‘ 3

iv) MbZj‘ XñVEodO H$m¶Xm, 1881 À¶m Imbrb H$b‘mVrb ............ ‘Ü¶o ‘mÝ¶Vo~Ôb
dU©Z Ho$bo Amho.
A) H$b‘ 28 ~) H$b‘ 15
H$) H$b‘ 13

v) ............. ^maVmV MbZr ZmoQ>m Omar H$aVo.
A) ñQ>oQ> ~±H$ Am°’$ B§{S>¶m ~) ~±H$ Am°’$ B§{S>¶m
H$) [aPìh© ~±H$ Am°’$ B§{S>¶m

vi) aonmo qH$dm [aìhg© aonmo aoQ> {ZpíMV H$aÊ¶mgmR>r .......... O~m~Xma Amho.
A) AW©‘§Ìmb¶
~) ^maVmMo {Z¶§ÌH$ Am{U ‘hmboIm narjH$
H$) [aPìh© ~±H$ Am°’$ B§{S>¶m
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àíZ 2) ~±qH$J {Z¶‘Z H$m¶Xm 1949 À¶m H$b‘ 8, H$b‘ 19 Am{U H$b‘ 20 A§VJ©V ~±qH$J H§$nÝ¶m§À¶m
ì¶dgm¶mdarb {Z~ªY ñnï> H$am. [20]

qH$dm

MbZj‘ XñVEodO 1881 À¶m H$b‘ 138 Vo 147 A§VJ©V ImË¶mVrb {ZYrÀ¶m AnwaonUmgmR>r
YZmXoemMm AZmXa Pmë¶mg X§S> ñnï> H$am.

àíZ 3) ^maVr¶ [aPìh© ~±H$ H$m¶Xm 1934 À¶m H$b‘ 3 Vo 19 A§VJ©V {ZJ‘Z, ^m§S>db ì¶dñWmnZ
Am{U ì¶dgm¶mer g§~§{YV VaVwXr ñnï> H$am. [20]

qH$dm

{g³¶w[aQ>mPoeZ H$m¶Xm 2002 À¶m H$b‘ 13 Vo 19 Zwgma gwajm {hVmÀ¶m A§‘b~OmdUrÀ¶m
g§X^m©Vrb {d{dY VaVwXr ñnï> H$am.

àíZ 4) {Q>nm {bhm. (H$moUË¶mhr 4) [24]
A) ~±qH$J {Z¶‘Z (gwYmaUm) {dYo¶H$ 2017

~) dMZ {MÆ>r

H$) Ama~rAm¶Mr H$m¶©o

S>) Ho$Ðr¶ Zm|XUr emIm

B>) ^m§S>db aMZm (H$b‘ 12)

’$) n¥ð>m§H$ZmMo àH$ma





Q1) Fill up the blanks with appropriate answers : [6]

i) In marketing ________ is the focal point.

a) Profit b) Sales

c) Customer d) Retailer

ii) Product mix does not include ________.

a) Product range b) After sales service

c) Brand d) Advertising

iii) _________ is the first step of product development.

a) Business Analysis b) Marketing testing

c) Generation of new idea d) Production

iv) _______ is the factor related with micro-Environment of marketing.

a) Economic conditions b) Legal aspect

c) Social condition d) Suppliers

v) Discount, profit margins are the part of _________.

a) product mix b) price mix

c) place mix d) promotion mix

vi) Advertisement is ________ type of communication.

a) Personal b) Impersonal

c) Personal and Impersonal d) Direct
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Q2) Define the term 'Marketing'. Explain objectives and importance of Marketing.
[20]

OR

Define the term labeling. State the functions and Importance of labeling.

Q3) What is Promotion Mix? Explain the elements of Promotion Mix? [20]

OR

What do you mean by public relation? Explain the different tools of public
relation.

Q4) Write short notes on (any four) : [24]

a) Marketing Strategy

b) Product Life Cycle

c) Types of Distribution Channels

d) Social Media Marketing

e) Role of Public Relation Officer

f) Benefits of Advertising


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àíZ àíZ àíZ àíZ àíZ 1) `mo½` n`m©̀  {ZdSy>Z Imbrb {dYmZo nyU© H$am. [6]

i) {dnUZm_Ü ò ............... hm H|$Ðq~Xÿ AgVmo.

A) Z\$m ~) {dH«$s

H$) J«mhH$ S>) {H$aH$moi {dH«o$Vm

ii) CËnmXZ {_l _Ü ò ............ g_m{dð> hmoV Zmhr.

A) CËnmXZ loUr ~) {dH«$s nümV godm

H$) _wÐm S>) Om{hamV

iii) Z{dZ CËnmXZ {dH$mgmVrb ............ hm n{hbm Q>ßnm Amho.

A) ì`mdgm` n¥ÏWH$aU ~) ~mOma MmMUr

H$) Z{dZ g§H$ënZm YmoaUo S>) dñVw CËnmXZ

iv) ............. hm KQ>H$ gyú_ {dnUZ n`m©daUmer {ZJS>rV Amho.

A) Am{W©H$ pñWVr ~) H$m`Xoera n¡by

H$) gm_m{OH$ pñWVr S>) nwadR>mXma

v) gwQ>, Z\$m à_mU ho .......... Mo KQ>H$ AmhoV.

A) CËnmXZ {_l ~) qH$_V {_l

H$) {R>H$mU {_l S>) Om{hamV {_l

vi) Om{hamV .............. ho àH$maMo g§kmnZ Amho.

A) d¡̀ {ŠVH$ ~) Ad¡̀ {ŠVH$

H$) d¡`{ŠVH$ d Ad¡`{ŠVH$ S>) àË`j
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àíZ àíZ àíZ àíZ àíZ 2) "{dnUZ' `m eãXmMr ì`m»`m XoD$Z {dnUZmMr C{Ôï>o Am{U _hÎd ñnï> H$am. [20]

qH$dm

IyU{MÆ>r (bo~qbJ) `m eãXmMr ì`m»`m XoD$Z IyU{MÆ>rMr (bo~qbJMr) H$m }̀ Am{U _hÎd
gm§Jm.

àíZ àíZ àíZ àíZ àíZ 3) à_moeZ {_l åhUOo H$m`? à_moeZ {_lMo KQ>H$ ñnï> H$am. [20]

qH$dm

OZg§nH©$ åhUOo H$m`? OZg§nH$m©Mr {d{dY gmYZo ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 4) {Q>nm {bhm. (H$moUË`mhr Mma) [24]

A) {dnUZ YmoaU

~) dñVyMo OrdZMH«$

H$) {dVaU M°ZobMo àH$ma

S>) gmoeb _r{S>`m _mH}$qQ>J

B) OZg§nH©$ A{YH$mè`mMr ŷ{_H$m

\$) Om{hamVrMo \$m`Xo





Q1) Fill in the blanks (Any 6) : [6]
i) _____is the Father of the Modern Cooperative Movement.

a) William King b) Raiffisen
c) Robort Owen d) Herrick

ii) ______is beneficial to the progress of all individuals and groups involved,
as well as to society.
a) Cooperation b) Customer
c) Consumer d) Market

iii) NCUI stands for_________.
a) National Cooperative Union of India
b) National Committee Union of India
c) National Council Union of India
d) National Commission Union of India

iv) Cooperative ______ is the act of engaging members in their cooperative
organization while taking care to recognize the needs of their community.
a) Owner b) Leadership
c) Employee d) Seller

v) Cooperative structure can be classified into _______ types.
a) Five b) Six
c) Two d) Seven

vi) Cooperative farming can be classified into _____ types.
a) Four b) Five
c) Six d) Three
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Q2) What is ‘Cooperation’? Write in detail Features and Benefits of Cooperation.
[20]

OR
What is ‘Cooperative Organization’? Describe the ‘Communication’ and
‘Leadership’ in Cooperative Organization. [20]

Q3) What is ‘Cooperative Training’? Explain the Role of Training Institutions in
providing Cooperative Training. [20]

OR
What is ‘Irrigation Cooperatives’? Explain Progress and Problems in Irrigation
Cooperatives. [20]

Q4) Write Short Notes (Any Four) [24]
a) Principles of Cooperation
b) Federal structure of Cooperative Organization
c) National Dairy Development Board (NDDB)
d) Recent Development in Cooperation in India
e) Problems of Cooperative farming
f) Reserve Bank of India (RBI)


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àíZ 1) [aH$må¶m OmJm ^am. [6]
i) ............. ho AmYw{ZH$ ghH$mar MidirMo OZH$ AmhoV.

A) {dë¶‘ qH$J ~) am¶{’$goZ
H$) am°~Q>© AmodoZ S>) ho[aH$

ii) gh^mJr gd© ì¶º$s Am{U JQ>m§À¶m àJVrgmR>r VgoM g‘mOmgmR>r .............. bm^Xm¶H$
Amho.
A) ghH$ma ~) J«mhH$
H$) Cn^moº$m S>) ~mOma

iii) NCUI åhUOo ............. hmo¶.
A) Z°eZb H$moAm°nao{Q>ìh ¶w{Z¶Z Am°’$ B§{S>¶m
~) Z°eZb H${‘Q>r ¶w{Z¶Z Am°’$ B§{S>¶m
H$) Z°eZb H$m¡pÝgb ¶w{Z¶Z Am°’$ B§{S>¶m
S>) Z°eZb H${‘eZ ¶w{Z¶Z Am°’$ B§{S>¶m

iv) ghH$mar ............. åhUOo g^mgXm§Zm Ë¶m§À¶m g‘mOmÀ¶m JaOm AmoiIyZ Ë¶m§À¶m ghH$mar
g§ñWoV Jw§VdyZ R>odÊ¶mMr {H«$¶m hmo¶.
A) ‘mbH$ ~) ZoV¥Ëd
H$) H$‘©Mmar S>) {dH«o$Vm

v) ghH$mar g§aMZoMo ............. àH$mam§‘Ü¶o dJuH$aU H$aVm ¶oVo.
A) nmM ~) ghm
H$) XmoZ S>) gmV

vi) ghH$mar eoVrMo .......... àH$mam§‘Ü¶o dJuH$aU H$aVm ¶oVo.
A) Mma ~) nmM
H$) ghm S>) VrZ
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àíZ 2) "ghH$ma' åhUOo H$m¶? ghH$mamMr d¡{eï>ço Am{U ’$m¶Xo Vnerbdma {bhm. [20]
qH$dm

"ghH$mar g§ñWm' åhUOo H$m¶? ghH$mar g§ñWoVrb g§dmX Am{U ZoV¥Ëd ¶m§Mo dU©Z H$am. [20]

àíZ 3) "ghH$mar à{ejU' åhUOo H$m¶? ghH$mar à{ejU XoÊ¶mgmR>r à{ejU g§ñWm§Mr ŷ{‘H$m ñnîQ>
H$am. [20]

qH$dm

"qgMZ ghH$mar' åhUOo H$m¶? qgMZ ghH$mamMr àJVr Am{U g‘ñ¶m ñnï> H$am. [20]

àíZ 4) {Q>nm {bhm. (H$moUË¶mhr Mma) [24]
A) ghH$mamMr VÎdo

~) ghH$mar g§ñWoMr g§KamÁ¶ g§aMZm

H$) amï´>r¶ Xþ½Y{dH$mg ‘§S>i (NDDB)

S>) ^maVmVrb ghH$mamVrb AbrH$S>rb {dH$mg

B) ghH$mar eoVrÀ¶m g‘ñ¶m

’$) ^maVr¶ [aPìh© ~±H$ (RBI)





Q1) Fill in the blanks : [6]

i) __________ is a conceptual framework of research.

a) Research design b) Data Analysis

c) Research Hypothesis d) Synopsis of Research

ii) __________ is the first step in starting the research process.

a) Identification of problem b) Data Analysis

c) Conclusion d) Data collection

iii) Testing hypothesis is a __________.

a) Inferential statistics b) Descriptive statistics

c) Data preparation d) Data analysis

iv) The concepts in a hypothesis are stated as __________.

a) Variables b) Theories

c) Indices d) Ideas

v) Data that have already been collected for some other purpose is termed
as __________.

a) Secondary data b) Primary data

c) Tertiary data d) Ready-made data

vi) The first page of research report is __________.

a) Title page b) Index

c) Appendix d) Bibliography
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Q2) What is ‘Research’? Explain in detail features of good research and also
write difference between ‘Research Method’ and ‘Research Methodology’.

[20]

OR

What is ‘Sampling’? Explain in detail various types of sampling.

Q3) Write meaning of the term ‘questionnaire’ in research. Explain in detail
essentials of a good questionnaire and also state difference between
‘questionnaire’ and ‘schedule’. [20]

OR

What do you mean by ‘Research Report’? Explain in detail importance and
types ‘Research Report’.

Q4) Write Short Notes (Any Four) : [24]

a) Significance of Research

b) Research Problem

c) Review of literature

d) Sources of secondary data

e) Bibliography entries

f) Footnote


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àíZ àíZ àíZ àíZ àíZ 1) [aH$må`m OmJm ^am. [6]
i) ................ hr g§emoYZmMr g§H$ënZmË_H$ Mm¡H$Q> Amho.

A) g§emoYZ AmamIS>m ~) _m{hVr {dûcofU
H$) g§emoYZ J¥hrVH$ S>) g§emoYZmMm gmam§e

ii) ............. hr g§emoYZ à{H«$`m gwê$ H$aÊ`mMr n{hbr nm`ar Amho.
A) g_ñ òMr AmoiI ~) _m{hVr {dûcofU
H$) {ZîH$f© S>) _m{hVr g§H$bZ

iii) MmMUr J¥hrVH$ hr EH$ ................. Amho.
A) AZw_mZmË_H$ AmH$S>odmar ~) dU©ZmË_H$ AmH$S>odmar
H$) VÏ` V`ma H$aUo S>) VÏ` {dûcofU

iv) J¥hrVH$mVrb g§H$ënZm ................. åhUyZ gm§{JVë`m OmVmV.
A) Mb ~) {gÕm§V
H$) {ZX}em§H$ S>) H$ënZm

v) BVa H$mhr CÔoem§gmR>r AmYrM Jmoim Ho$boë`m _m{hVr bm .................. åhUVmV.

A) Xþæ`_ _m{hVr ~) àmW{_H$ _m{hVr

H$) V¥Vr`H$ _m{hVr S>) aoS>r_oS> _m{hVr

vi) g§emoYZ AhdmbmMo n{hbo nmZ ................... Amho.

A) erf©H$ nmZ ~) AZwH«$_{UH$m

H$) n[a{eï> S>) g§X ©̂gwMr



[6146]-129 4

àíZ àíZ àíZ àíZ àíZ 2) "g§emoYZ' åhUOo H$m`? Mm§Jë`m g§emoYZmMr d¡{eï>ço g{dñVa ñnï> H$ê$Z "g§emoYZ nÕVr'
(Research Method) "g§emoYZ nÕVremó' (Research Methodology) `mVrb \$aH$
{bhm. [20]

qH$dm

"Z_wZm {ZdS>' (Sampling) åhUOo H$m`? Z_wZm {ZdS> nÕVrMo {d{dY àH$ma ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 3) g§emoYZmVrb "àíZmdbr' `m eãXmMm AW© {bhm? Mm§Jë`m àíZmdbrMr d¡{eï>ço g{dñVa ñnï>
H$ê$Z "àíZmdbr' Am{U "AZwgyMr' (Schedule) `mVrb \$aH$ ñnï> H$am. [20]

qH$dm

"g§emoYZ Ahdmb' åhUOo H$m`? "g§emoYZ Ahdmb' Mo _hÎd Am{U àH$ma g{dñVa ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 4) {Q>nm {bhm (H$moUË`mhr Mma) … [24]

A) g§emoYZmMo _hÎd

~) g§emoYZ g_ñ`m

H$) g§X ©̂  gm{hË`mMm AmT>mdm

S>) Xþæ`_ _m{hVrMo ómoV

B) g§X ©̂gwMr Zm|Xr

\$) ViQ>rn


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